Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1	Kisan Chowk to Beherapat Chowk on NH- 49	JHARSUGUDA	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
2	Within 8 Km from Kunduli govt. Hospital towards Similiguda on LHS on NH-26	KORAPUT	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
3	Jaganath Temple to Ambika Temple in Baripada Town (on RHS)	Mayurbhanj	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
4	Phuladi to Haldipada On NH-60 (on LHS) while going towards Kharagpur	Balasore	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
5	Sasan Chak to Mathakargola on NH53 either side	Dhenkanal	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
6	AG Chhak to Acharya Vihar , Bhubaneshwar	Khordha	Regular	150	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
7	Between Fire Station Chowk and Delta Chhak, Bhubaneshwar	Khordha	Regular	150	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
8	From Jaydev Vihar Chhak to Rajbhawan Square on Bidyut Marg	Khordha	Regular	150	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
9	Between Of State Bank Of India, Khordha Branch and Palatotapada Chhak (Gour Radha Krishna Temple) Via Pallahat	Khordha	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
10	Between KIIT Square and KIIT International School, Bhubaneshwar	Khordha	Regular	150	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
11	VSS Nagar within municipality limit	Khordha	Regular	150	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
12	Khandagiri to Kalinga Studio Chowk, Bhubaneshwar	Khordha	Regular	150	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
13	Green Field Hotel to Pandara Square on NH 316	Khordha	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
14	Kesora within municipality limit	Khordha	Regular	150	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
15	Hulursingha to PTC chak on Bypass Road	Angul	Regular	100	SC	CFS	20	20		0	0	Draw of Lots	0	3
16	Patia Chhak to Patia Station Square	Khordha	Regular	150	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
17	Kalpana Chhak to rasulgarh chhak on Cuttack Puri Road	Khordha	Regular	150	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
18	Vani Vihar Chhak to Master Canteen via Rupali Square	Khordha	Regular	150	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
19	Within 2 Km from Jhilminda on Kadobahal Main Road	BARGARH	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
20	Badli to Mading on village main road	KALAHANDI	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
21	Natada Chak, Ambapal towards Angul to NTPC via Pragatinagar	Angul	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
22	Thengudia under Santoshpur GP in Basta block	Balasore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
23	Within 2 km from Jokadia bridge towards Jajpur Road	Jajpur	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
24	Putina, bhograi block	Balasore	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

					Category									
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in KIs	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
25	Simanbadi on Simanbadi Junction of NH- 59 to Sitapanga Road	Kandhamal	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
26	Within 3 km from Betnoti on Betnoti- Badasahi road	Mayurbhanj	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
27	Bijatola not on SH	Mayurbhanj	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
28	Bamunigam on Adava - Daringbadi Road	Kandhamal	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
29	Ramagiri on Larada - Raulpada road	Gajapati	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
30	Jharpokharia (Not on NH)	Mayurbhanj	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
31	Balangir town within Municipality on Station Road	BOLANGIR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
22	Bargarh town between Gandhi Chowk &	BARCARU	Regular	400	000	5.0	20	20	400	25	45	5	4.5	
32	Saraswati Enclave on main Road Within 5 Km from Belgaon Chowk on NH-	BARGARH		100	OBC	DC	20	20	400		45	Draw of Lots	15	4
33	26 in Balangir district	BOLANGIR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Within 2 Km from Titlagarh Railway		Danielan							25				
34	Station chowk towards Belgaon (Within NAC Limit)	BOLANGIR	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
34	Between Km stone No 67 and 70 on RHS	BOLANGIK		130	OFLIN	ЪС	20	20	400		73	Diaw of Lots	13	,
	while going from Bolangir towards		Regular							25				
35	Bargarh on NH-26	BOLANGIR		150	OPEN	CC	35	35	1225		10	Bidding	30	5
	Within 3 Km from Padampur Benhuriya		Regular							25				
36	chowk towards Sohela on SH-03	BARGARH		100	OBC	DC	35	35	1225		60	Draw of Lots	15	4
	Bargarh New NH-Bye Pass to Rengalicamp		Danielan							0				
37	Chowk on LHS towards Sambalpur on NH- 06 (New NH 53)	BARGARH	Regular	150	sc	CFS	35	45	1575	U	0	Draw of Lots	0	3
3,	Between Km stone No. 2 and 5 on RHS	DANGANII		150	30	613	33	75	1373		ŭ	Diaw or Lots	ŭ	
38	towards Bolangir on NH-26	BARGARH	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
	Whin 3 Km from Godbhaga chowk		Regular							25				
39	towards Binka on RHS on SH-54	BARGARH	negulai	100	OPEN	DC	35	35	1225	23	60	Draw of Lots	15	5
40	Padampur town (within NAC limit) on	BARGARH	Regular	100	ORC	DC	20	20	400	25	45	Draw of Late	15	
40	main road Within 2 Km from Barpali Sonepur Chowk	вакцакн		100	OBC	DC	20	20	400		45	Draw of Lots	15	4
	towards Bargarh on NH-26 (Within NAC		Regular							25				
41	Limit)	BARGARH		150	OPEN	DC	20	20	400		75	Draw of Lots	15	5
	Within 2 KM from Padampur Bheunria		Regular							0				
42	Chowk on MDR 36 or, 36A	BARGARH	regular	100	ST	CFS	20	20	400	U	0	Draw of Lots	0	3
	Between Ekambra Chowk and Sarsara on		<u> </u>											
42	LHS on NH- 26 while going Towards	DADCAD	Regular	150	ODC	D.C.	25	25	1225	25	75	D	15	
43	Balangir Within 3 KM from Saintala towards	BARGARH		150	OBC	DC	35	35	1225		75	Draw of Lots	15	4
44	Balangir on NH-26	BOLANGIR	Regular	150	OPEN CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
			•							•	-			

				LIST O			OF IOCL IN							
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
45	Between Attabira College & Godbhaga Chowk on NH-53 (old NH-06) on RHS while going from Sambalpur towards Bargarh	BARGARH	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
46	Within 3 Ghatkaintara Chowk on NH-57	SONEPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
47	Within 3 Km from NH-59 and SH-42 intersection towards Kantabanji on SH-42	BOLANGIR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
48	From Remed Chowk to Goshala on NH-53 (old NH-6) on RHS while going from Sambalpur towards Bargarh	SAMBALPUR	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
49	Between Attabira college & Godbhaga Chaka on NH-53 (old NH-06) within NAC limit of Attabira on LHS while going from Sambalpur towards Bargarh	BARGARH	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
50	Within 5 Km from Town Police Station, Nuapada towards Raipur on NH-353 (within Muncipality limit)	NUAPADA	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
51	Between Attabira College & Baharagoda Toll Gate on NH-53 (old NH-6) on RHS while going from Sambalpur towards Bargarh	BARGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
52	With in 4 Kms from Bhatli Chawk towards Bhatli on LHS on Bargarh-Bhatli Road	BARGARH	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
53	Within 3 KM from Dus Mile Chowk on LHS towards Bargarh on NH-06 (New NH-53)	BARGARH	Regular	150	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
54	Kantabanji town within 1 Km from Shastri chowk on main road (within NAC Limit)	BOLANGIR	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
55	Between Baharagoda Toll Gate and Bargarh on NH-53 (Old NH-6) on LHS while going from Sambalur towards Bargarh	BARGARH	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
56	Within 2 Km from Barpali Sonepur Chowk towards Binka on MDR-39 within Barpali NAC limit	BARGARH	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
57	Within 2 Km from Paikmal Chaka towards Padampur on SH-03	BARGARH	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
58	Within 3 Km from Paikmal Chowk towards Nuapada on SH-03	BARGARH	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
59	SANINDPUR -NEAR RUNGTA MINES BETWEEN KOIRA & ORAGHAT MANGANESE MINES	SUNDERGARH	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3

						LOCATIONS								
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
60	Between Km stone No 53 and 56 on RHS while going from Bargarh towrads Sohela on NH-53 (old NH-6)	BARGARH	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
61	Bargarh town between Gandhi Chowk & Bhatli chowk on main Road	BARGARH	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
62	Bargarh town - within 1 Km from Kalimandir on mini-Stadium road.	BARGARH	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
63	Within 3 Km from Deogan Chak on NH-26	BOLANGIR	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
64	Chandiposh to Samardari on NH 143 (old NH 23)	SUNDERGARH	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
65	Balangir Town (on Patnagarh road within Municipality limit)	BOLANGIR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
66	Udit Nagar to STI Chowk	SUNDERGARH	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
67	Between Hanuman Vatika Chowk to Chhend Chowk on Ring Road	SUNDERGARH	Regular	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
68	Within 5 Km from SBI, Utkela towards	KALAHANDI	Regular	150	CT.	CFS	35	35	1225	0	0	D	0	3
69	Bhawanipatna on RHS on NH-26 Rourkela town on Ring Road	SUNDERGARH	Regular	150 100	ST OBC	DC	20	20	1225 400	25	0 45	Draw of Lots Draw of Lots	15	4
70	Tushra on Main Road within NAC limit	BOLANGIR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
71	Within 2 Km outside Kantabanji NAC limit towards Belpara on SH-42	BOLANGIR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
72	Between Chhend Chowk to Space Chowk on Ring Road	SUNDERGARH	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
73	From Kalta to Kusumdihi on NH-520 (Old NH215)	SUNDERGARH	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
74	Koira Chowk to Kusumdihi	SUNDERGARH	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
75	Kuarmunda to Lassey on NH-143 (old NH 23)	SUNDERGARH	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
76	Panposh to Vedvyas Chowk on NH 143 (Old NH 23)	SUNDERGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
77	Within 2 Km of Ghodaghat Chowk towards Jagannath Temple within Bhawanipatna Town Muncipality on RHS on NH-26	KALAHANDI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
78	Between Rourkela Club Chowk to Jhirpani Police Station chowk on Main Road	SUNDERGARH	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
79	Between Laing Chowk to Chikatmati on SH10 on RHS while going from Rourkela towards Sambalpur	SUNDERGARH	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
80	Within 5 Km from Dunguripali bus stand towards Bargarh on NH-26	BARGARH	Regular	150	OBC PH	DC	35	35	1225	25	75	Draw of Lots	15	4
81	Within 2 Km from Fasad Chowk on NH-26	BOLANGIR	Regular	150	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
82	Between Chhend BSNL Chowk to Reserve Police Line in Chhend, Rourkela	SUNDERGARH	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
	Raiberna on SH 10 on RHS while going		Regular							25				_
83	from Rourkela towards Sambalpur Rajamunda Chhak to Lahuinpara Block	SUNDERGARH		100	OPEN	DC	35	35	1225		60	Draw of Lots	15	5
84	Chhak	SUNDERGARH	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
85	Hathibanda to Lathikata Tehsil Office on NH143 (old NH23)	SUNDERGARH	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
86	On Hanuman Vatika bypass Road, Rourkela	SUNDERGARH	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
87	Within 4 Km Bimlagarh on NH 520, earlier (NH 215)	SUNDERGARH	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
88	Within 2 Km from Star Cineplex towards Bhawanipatna on SH-16	KALAHANDI	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
89	Within 3 Km from Jamudihi on NH 520 (Old NH 215)	SUNDERGARH	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
	Within 2 Km from Baldhiamal Chowk (NH26 Intersection) towards Dharamgarh on SH-52 on RHS while going towards Dharamgarh	KALAHANDI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
91	Within 5 Km from SBI, Utkela towards Bhawanipatna on LHS on NH-26	KALAHANDI	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
92	Gouduniposh on NH520 (Old NH 215)	SUNDERGARH	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
93	Station Chowk to Bisra Chowk (Rourkela)	SUNDERGARH	Regular	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
94	Within 5 Km from Pastigudi chowk towards Kesinga on LHS on NH-26	KALAHANDI	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
95	Within 5 Km from Pastigudi chowk towards Kesinga on RHS on NH-26	KALAHANDI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
96	Within 5 Km from TCI chowk towards Kalunga	SUNDERGARH	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
97	Between Lathikata to Chandiposh on NH143 (old NH23) RHS towards Rajamunda	SUNDERGARH	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
98	Within 5 Km from Pastigudi Chowk towards Bhawanipatna on LHS on NH-26	KALAHANDI	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
99	Within 5 Km from Pastigudi Chowk towards Bhawanipatna on RHS on NH-26	KALAHANDI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
100	San Brahmani Tarang in Kalunga IDC Area	SUNDERGARH	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

						LOCATIONS								
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
101	Within 5 Km from Amath Chowk Towards Madanpur Rampur on LHS on NH-59 Within 3 Km from Kamthana Govt. T B	KALAHANDI	Regular Regular	150	OPEN	DC	35	35	1225	25 25	75	Draw of Lots	15	5
102	Hospital towards Bhawanipatna on SH-16	KALAHANDI	rregulai	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
	Within 5 Km from SBI, Utkela towards		Regular							25				
103	Kesinga on LHS on NH-26	KALAHANDI	neguidi	150	OBC CC 1	DC	35	35	1225	23	75	Draw of Lots	15	4
104	Within 1 Km from Ghodaghat Chowk towards Raipur within Bhawanipatna Town Muncipality on RHS	KALAHANDI	Regular	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
105	Within 2 Km of Ghodaghat Chowk towards Jagannath Temple within Bhawanipatna Town Muncipality on LHS on NH-26	KALAHANDI	Regular	150	OPEN PH	DC	20	20	400	25	75	Draw of Lots	15	5
106	Within 2 Km from Chattiguda Chowk towards Raygada on SH-6	KALAHANDI	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
107	Within 2 Km from Chattiguda Chowk towards Bhawanipatna on LHS on SH-6	KALAHANDI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
108	Within 3 Km from Kesinga Police Station towards Amath on RHS on NH-26 (within NAC limit)	KALAHANDI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
109	Within 5 Km from SBI, Utkela towards Kesinga on RHS on NH-26	KALAHANDI	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
110	Within 5 Km from Ambedkar Chowk, Udyanbandh towards Nuapada on RHS on NH-353	NUAPADA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
111	From Remed Chowk to Goshala on NH-53 (old NH-6) on LHS while going from Sambalpur towards Bargarh	SAMBALPUR	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
112	From Laxmi Talkies Chowk to Modipara chowk on Main Road	SAMBALPUR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
113	Within 5 Km of Ghulijuba Chowktowards Moter on NH-26 on LHS	KALAHANDI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
114	Within 5 Km from Bhagirathi Park, Bhawaniptna towards Th. Rampur on SH- 44	KALAHANDI	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
115	Within 2 Km from Baldhiamal Chowk (NH26 Intersection) towards Dharamgarh on SH-52 on LHS while going towards Dharamgarh	KALAHANDI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
116	Within 2 Km from Ghodaghat Chowk towards Junagarh within Bhawanipatna Town Muncipality on LHS on NH-26	KALAHANDI	Regular	150	OPEN CC 1	DC	20	20	400	25	75	Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
117	Within 5 Km from Ambedkar Chowk, Udyanbandh towards Nuapada on LHS on NH-353 Within 5 Km from Ambedkar Chowk,	NUAPADA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Khariar towards Titilagarh on LHS on NH-		Regular							25				
118	59 Within 3 Km from Dharamgarh Govt bus	NUAPADA	0 1	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
119	stand towards Raipur on SH-52	KALAHANDI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
120	Within 3 Km from Kesinga Police Station towards Amath on LHS on NH-26 (within NAC limit)	KALAHANDI	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
121	Within 5 Km from Narla Chowk towards Madanpur Rampur on SH-6A	KALAHANDI	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
122	Within 5 Km from Lanjigarh towards Kalyansinghpur on SH-45	KALAHANDI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
123	Within 5 Km from Kamthana Govt. T B Hospital towards Raipur on SH 16	KALAHANDI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
124	Within 2 km from Dhanupalli Chowk on Sambalpur- Dhanupalli Chowk Link road connecting NH-53 (old NH-6) & NH-55 (Old NH-42)	SAMBALPUR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
	Between KM stone No 186 to 189 on NH - 20 (Old NH-215) on RHS while going from Keonjhar towards Anandpur	KEONJHAR	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
	Within 5 Km from Ambedkar Chowk, Khariar towards Titilagarh on RHS on NH- 59	NUAPADA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
127	Within 5 Km of Ghulijuba Chowktowards Moter on NH-26 on RHS	KALAHANDI	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
128	Within 5 Km from Chattiguda Chowk towards Madanpur Rampur on SH-6A	KALAHANDI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
129	Within 3 Km from College Chowk, Bhawanipatna towards Kesinga on LHS on NH-26	KALAHANDI	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
130	Within 5 Km from Madanpur Rampur Chowk towards Tumudibandh on NH-59 on RHS	KALAHANDI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
131	Within 5 Km from College Chowk, Bhawanipatna towards Rayagada on SH-6	KALAHANDI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
132	Between Junagarh Station Road Crossing and Lankeswari Temple, Junagarh on NH- 26 (within NAC limit)	KALAHANDI	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
133	Within 3 Km from Junagarh Police Station towards Bhawanipatna on NH-26 on RHS (within NAC limit)	KALAHANDI	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
134	Within 5 Km from Moter-Jaipatna Chowk towards Nabrangpur on LHS on NH-26	KALAHANDI	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
135	Within 3 Km from Junagarh Police Station towards Bhawanipatna on LHS on NH-26 (within NAC limit)	KALAHANDI	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
136	Within 5 Km from SBI, Ampani towards Nabrangpur on RHS on NH-26	KALAHANDI	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
137	Between Km stone No 252 and 255 on NH- 26 on LHS while going towards Nawrangpur	KALAHANDI	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
138	Within 5 Km from Ambedkar Chowk, Khariar towards Raipur on RHS on NH-353	NUAPADA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
139	Within 5 Km from Moter-Jaipatna Chowk towards Nabrangpur on RHS on NH-26	KALAHANDI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
140	Within 2 Km from Bhalumunda College towards Bangomunda on LHS on NH-59	NUAPADA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
141	Bhawanipatna Town (Between Jail Chowk To Sirdi Sai Baba Mandir on SH-44)	KALAHANDI	Regular	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
142	Within 3 Km from College Chowk, Bhawanipatna towards Kesinga on RHS on NH-26	KALAHANDI	Regular	150	OPEN CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
143	Khariar Road Town on Amsena Road (within NAC limit)	NUAPADA	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
144	Within 5 Km from Ambedkar Chowk, Khariar towards Raipur on LHS on NH-353	NUAPADA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
145	Within 2 Km from SBI, Karlapada towards Bhawanipatna on SH-16	KALAHANDI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
146	Within 3 Kms from Banjari Mandir Towards Raipur on NH- 353 on LHS	NUAPADA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
147	Within 5 Km from Khariar-Bhandarpuri Road crossing towards Baloda Chowk on Khariar-Bandarpuri Road within NAC limit.	NUAPADA	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Within 5 Km from Ambedkar Chowk, Khariar towards Bhawanipatna on SH-16	NUAPADA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
149	Within 3 Km from Khariar Fire Station towards Raipur on RHS on NH-353 (within NAC limit)	NUAPADA	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
150	Between Milestone number 61 to 64 towards Bhawanipatna on SH- 16	NUAPADA	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
151	Within 2 Km from Kesinga Police Station towards Bhawanipatna on NH-26 (wihin NAC limit) Within 2 Km from Junagarh-Kalampur	KALAHANDI	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
	Chowk towards Kalampur on Junagarh-		Regular							25				_
152	Kalampur Road.	KALAHANDI		100	OPEN	DC	20	20	400		45	Draw of Lots	15	5
153	Within 2 Km from Bhalumunda College towards Rajkhariar on RHS on NH-59	NUAPADA	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
154	Within 2 Km from Bhalumunda College towards Rajkhariar on LHS on NH-59	NUAPADA	Regular	150	OPEN CC 2	DC	35	35	1225	25	75	Draw of Lots	15	5
155	Within 2 Km from Bhalumunda College towards Bangomunda on RHS on NH-59	NUAPADA	Regular	150	OBC CC 1	DC	35	35	1225	25	75	Draw of Lots	15	4
156	Within 2 Km from Amath Chowk towards Bolangir on NH-26	KALAHANDI	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
157	Within 3 Km from Chattiguda Chowk towards Bhawanipatna on SH-6 on RHS	KALAHANDI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
158	Within 5 Km from Collectorate office, Nuapada towards Bhawanipatna on LHS on NH-353	NUAPADA	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
159	Between KM stone 154 and 156 on NH-26	KALAHANDI	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
160	On Municipal Road in Ward No-6, Kesinga (within NAC limit)	KALAHANDI	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
161	Within 2 Km from Amath Chowk towards Kesinga on NH-26 on LHS	KALAHANDI	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
162	Within 2 Km from Amath Chowk towards Kesinga on NH-26 on RHS	KALAHANDI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
163	Within 3 KM from Thana Chowk, Khariar towards Sinapali (Within NAC limit)	NUAPADA	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
164	Within 5 Km from Town Police Station, Nuapada towards Bhawanipatna on LHS on NH-353 (within Muncipality limit)	NUAPADA	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
165	Kurrumunda on Narra Road (Within Khariar Road NAC Limit)	NUAPADA	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

Location SI. No. Name Of Location SI. No. Revenue District Type of RO monthly Sales PH/OBC/OBC CC (Regular/R Potential District (CC/DC/CFS) Site (in Sq. requirement for development of CD/DC/CFS) Site (in Sq. requirement for development of CD/DC/DC/CFS) Site (in Sq. requirement for development of CD/DC/DC/DC/DC/DC/DC/DC/DC/DC/DC/DC/DC/D	Fixed Fee / Min bid amount (Rs in Lakhs) 11 12 0 3 15 5 15 5 30 4
Within 3 KM from Basudevpur Chaka on NH-520 (old NH-215) on LHS while going from Rimuli towards Joda KEONJHAR 150 ST CFS 35 45 1575 0 Draw of Lots	0 3 15 5 15 5
NH-520 (old NH-215) on LHS while going from Keonjhar towards Joda NH-520 (old NH-215) on LHS while going from Rimuli towards Joda NH-520 (old NH-215) on LHS while going from Badrasahi Chaka towards Inches towards (EONJHAR Inches NH-20) on NH-520 (old NH-215) on LHS while going from Badrasahi Chaka towards Inches NH-20 (old NH-215) on LHS while going from Badrasahi Chaka towards NH-20 (old NH-215) on LHS while going from Badrasahi Chaka towards Inches Towards NH-20 (old NH-215) on LHS while going from Badrasahi Chaka towards NH-20 (old NH-215) on LHS while going from Rimuli towards Joda NH-520 (old NH-215) on LHS while going from Rimuli towards Joda NH-520 (old NH-215) on LHS while going from Rimuli towards Joda NH-520 (old NH-215) on LHS while going from Rimuli towards Joda NH-520 (old NH-215) on LHS while going from Rimuli towards Joda NH-520 (old NH-215) on LHS while going from Rimuli towards Joda NH-520 (old NH-215) on LHS while going from Rimuli towards Joda NH-520 (old NH-215) on LHS while going from Rimuli towards Joda NH-520 (old NH-215) on LHS while going from Rimuli towards Joda NH-520 (old NH-215) on LHS while going from Rimuli towards Joda Joda NH-520 (old NH-215) on LHS while going from Rimuli towards Joda Joda Joda Joda Joda Joda Joda Joda	15 5 15 5 30 4
167 Raipur on SH-16 KALAHANDI Regular 100 OPEN DC 35 35 1225 25 60 Draw of Lots	15 5 30 4
Regular Setween KM stone No 501 and 506 on NH 49 on RHS while going from Keonjhar KEONJHAR 150 DC 35 45 1575 T5 Draw of Lots	15 5 30 4
While going from Rimuli towards Keonjhar on NH-20 (Old NH-215) KEONJHAR 150 OBC CC 35 45 1575 10 Bidding	
towards Joda on NH-520 (old NH-215) on 170 LHS while going from Rimuli towards Joda KEONJHAR 150 ST CFS 35 45 1575 0 Draw of Lots Burla Town on Sambalpur University Road (Within NAC Area) SAMBALPUR Regular O Draw of Lots Regular D D D D D D D D D D D D D D D D D D D	
Burla Town on Sambalpur University Road 171 (Within NAC Area) SAMBALPUR Regular 100 OPEN DC 20 20 400 25 45 Draw of Lots Within 5 KM from Bhadrasahi Chaka towards Rugudi on NH-520 (old NH-215) on LHS while going from Joda towards Barbil Town Between Barbil College and Nalda Railway Crossing (Within Regular Municipality limit) Within 4 KM from Katesahi More on NH- 520 on LHS while going from Joda towards Regular Regular 100 OPEN CC 35 45 1575 10 Bidding 25 AFE Draw of Lots	0 1 3
171 (Within NAC Area) SAMBALPUR SA	
towards Rugudi on NH-520 (old NH-215) on LHS while going from Joda towards 172 Koira KEONJHAR 150 OPEN CC 35 45 1575 10 Bidding	15 5
Nalda Railway Crossing (Within Regular 100 OBC DC 20 20 400 45 Draw of Lots Within 4 KM from Katesahi More on NH- 520 on LHS while going from Joda towards Regular 25	30 5
Within 4 KM from Katesahi More on NH- 520 on LHS while going from Joda towards Regular 25	15 4
	15 5
Between KM stone No 497 and 500 on Popular	
175 LHS on NH-49 (Old NH-6) KEONJHAR 150 SC CFS 35 45 1575 0 Draw of Lots Between KM stone No. 1 and 6 on	0 3
Expressway II (Joda-Palaspanga Road) Regular 25 25 27 20 400 Draw of Lots	15 5
Between KM stone No 63 and 73 on NH- 177 20 (Old NH-215) KEONJHAR Regular 150 OBC DC 35 45 1575 25 Draw of Lots	15 4
Between KM stone No 75 and 80 on LHS While going from Rimuli towards Keonjhar Regular 150 OPEN CC 35 45 1575 10 Bidding	30 5
Between Talagaon Chowk and Goudadiha 179 Chowk on SH-53 KEONJHAR Regular 100 SC PH CFS 35 35 1225 0 Draw of Lots	0 3
Deogarh new bypass on NH-49 (old NH-6) on LHS while going from Sambalpur 180 towards Keonjhar DEOGARH DEOGAR	15 4
Within 1 Km from NH-20 (Old NH-215) bypass Chaka (Baliaguda Chaka) towards Keonjhar Raisuan on Keonjhar - Raisuan 181 Road KEONJHAR 100 OPEN DC 20 20 400 45 Draw of Lots	15 5

					F ADVENTIGED							•		
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
182	Within 3 KM from Champua Chaka towards Rimuli on NH-20 (old NH-75E)	KEONJHAR	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
183	Between KM stone No 90 and 95 on RHS while going from Rimuli towards Keonjhar on NH-20 (Old NH-215)	KEONJHAR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
184	Between KM stone No 89 and 94 on LHS while going from Rimuli towards Keonjhar on NH-20 (Old NH-215)	KEONJHAR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
185	Between KM stone No 102 and 107 on RHS while going from Rimuli towards Keonjhar on NH-20 (Old NH-215)	KEONJHAR	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
186	Within 3 KM from Barapada Chaka towards Panikioili on NH 20 (Old NH-215) on LHS	KEONJHAR	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
187	From Belabahali Chowk to Hasanpur Chowk on NH 20 (old NH 215).	KEONJHAR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
188	Within 04 KM from Bahadaposi Chowk towards Rourkela on SH 10A	DEOGARH	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
189	Between Gandhi Chaka & Naranpur Railway Overbridge on Keonjhar - Naranpur Road	KEONJHAR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
190	Within 3 KM from Labanya Chakka towards Patana on Keonjhar-Patana Road	KEONJHAR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
191	Within 5 KM from Sailonga Chaka Towards Keonjhar on NH - 20 (Old NH-215) on RHS	KEONJHAR	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
192	Within 6 KM from Ghatagaon Bypass Chowk towards Anandpur on NH - 20 (Old NH-215) on LHS	KEONJHAR	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
193	Within 04 KM from Tileibani Chowk towards Sambalpur on NH 53 (old NH-6)	DEOGARH	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Within 5 KM from Ghatagaon Bypass Chowk towards Denkhikote on NH - 20 (Old NH-215) on LHS while going from		Regular		OPEN CC 1				1555	25				
194 195	Anandpur towards Keonjhar From Collector Office chowk, Keonjhar to Keonjhar Govt. Hospital	KEONJHAR KEONJHAR	Regular	150	OBC	DC DC	35 20	45 20	1575 400	25	75 45	Draw of Lots Draw of Lots	15 15	4
196	Within 2 KM from Gandhi Chowk, Keonjhar towrads Kolkata on NH-49 (within Muncipality limit)	KEONJHAR	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
197	Within 06 KM from Balam Chowk towards Keonjhar on NH 49	DEOGARH	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Potential (MS+HSD) in	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	KIs 5	CC 1/OPEN CC 2/OPEN PH)	7		8		(Rs in Lakhs)	RO (Rs in Lakhs)	10	11	12
•	2	3	4	J	· ·	,			I	34	30	10	-11	12
	Between KM stone No 180 to 184 on NH -									25				
	20 (Old NH-215) on LHS while going from		Regular							25				
198	Keonjhar towards Anandpur	KEONJHAR		150	OPEN	CC	35	45	1575		10	Bidding	30	5
400	Within 8 KM from Riamal Chowk towards	DECCARU	Regular	400	000	5.0	25	25	4225	25		5	45	
199 200	Anugul on SH-24. Patrapali on Kuchinda-Bamra Road	DEOGARH SAMBALPUR	Regular	100 100	OBC OPEN	DC DC	35 35	35 35	1225 1225	25	60 60	Draw of Lots Draw of Lots	15 15	4 5
200	Within 03 KM from Chennapadi Chowk on	SAIVIDALFUN		100	OFLIN	ЪС	33	33	1223		00	Diaw of Lots	13	,
201	SH 53.	KEONJHAR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
	Within 3 Km from Purna Chowk towards		Regular		ST CC 1					0				
202	Siriapali Chowk on NH-49 (Old NH-200)	JHARSUGUDA		150		CFS	35	35	1225		0	Draw of Lots	0	3
	Within 4 Km from Lakhanpur Chowk to Piplimal Chowk on NH-49 (Old NH-200) on		Regular							25				
203	RHS	JHARSUGUDA	_	150	OBC CC 1	DC	35	35	1225	25	75	Draw of Lots	15	4
203	Within 05 KM from Pipilia Chowk towards	311/11/00/00/07/1		100	050 00 1		- 55	- 55	1225			Diaw or Lots	10	
	Keonjhar on NH - 20 (Old NH-215) on LHS		Regular							25				
	while going from Ghatagaon towards		Regulai							25				
204	Keonjhar	KEONJHAR		150	OPEN	CC	35	45	1575		10	Bidding	30	5
	Within 3 Km from Mangalpur Chowk on		Danielan		OPEN PH					25				
205	SH-49 (Swam Patana Bypass road) towards Karanjia	KEONJHAR	Regular	100	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
203	Within 03 KM from Purnapani Chowk on	KLONJITAK		100		ЪС	33	33	1223		00	Diaw of Lots	13	3
206	NH-143.	DEOGARH	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Within 05 KM from Barkot Chowk towards		Regular							25				
207	Rourkela on NH-143	DEOGARH	Regulai	150	OBC	CC	35	35	1225	25	10	Bidding	30	4
	Within 3 Km from Bamparda Chowk		Regular							25				_
208	towards Keonjhar on NH-49 (old NH-6) Within 06 KM from Tileibani Chowk	DEOGARH		150	OPEN	DC	35	45	1575		75	Draw of Lots	15	5
	towards Kuchinda on NH-49 (Teleibani -		Regular							25				
209	Kuchinda Road)	DEOGARH	cguiui	150	OBC	DC	35	35	1225		75	Draw of Lots	15	4
	Within 4 Km from Chandarpur Chowk on		Regular							0				
210	SH-24	DEOGARH	Regulai	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Within 06 KM from Barkote Chowk		Regular			-	-			25				
211	towards Sambalpur on NH 49	DEOGARH		150	OPEN	CC	35	45	1575		10	Bidding	30	5
	Within 2 Km from Suakathi Chowk		Regular							25				
212	towards Keonjhar on NH-49 (old NH-6)	KEONJHAR	negulai	150	OPEN	СС	35	45	1575	23	10	Bidding	30	5
	Within 5 Km from Nekedaghar Chowk				4									
	towards Raisuan on NH-20 (Old NH-215)		Regular							25				
213	on LHS	KEONJHAR		150	OPEN	CC	35	45	1575		10	Bidding	30	5
	Between Suakathi Chowk to													
214	Bayapandadhar Chowk on NH-49 (old NH-	KEONJHAR	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
214	Talpatia Police Station to Bhasma Chowk	KEUNJHAK		130	UBC	LL.	35	45	1575		10	biuding	30	4
215	on SH-10 on RHS	SUNDERGARH	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
								<u> </u>					·	

					F ADVENTIGED									
Location Sl. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
216	Balada on Joda-Palaspanga Road	KEONJHAR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
217	Bijupatnaik Chowk to Beherapat chowk on SH-10 on LHS while going from Sambalpur towards Jharsuguda	JHARSUGUDA	Regular	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
218	Within 3 KM from Bramhanipal Chaka towards Daitari Mines	KEONJHAR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
210	Within 3 KM from Bhedabahal towards	REOMINAN		100	OBC	ЪС	33	33	1223		00	Diaw of Lots	13	-
219	Bhasma on SH10 on LHS	SUNDERGARH	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
220	Within 1 Km from Anandapur Bus stand towards Karanjia on Anandpur- Thakurmunda road (within NAC limit)	KEONJHAR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
	With 3 Km from Jangili Kudar Chowk towards Anugul on RHS while going towards Anugul on Ranchi-Vijaywada		Regular							25		_		
221	Corridor	DEOGARH		100	OBC	DC	35	35	1225		60	Draw of Lots	15	4
222	Within 4 Km from Jagmohanpur Chowk towards Keonjhar on RHS on NH-49 (old NH-6)	KEONJHAR	Regular	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	From Ullunda to Subarnapur Mahanadi	SONEPUR	Regular					35	1225	25	60			5
223	Bridge on SH 15 , Sonepur Within 3 KM from Talpatia Chowk (Intersection point of old SH-10 & new bypass) towards Talpatia Police Station via new Jharsuguda bypass on SH-10 on LHS	JHARSUGUDA	Regular	100	OPEN SC	DC CFS	35 35	35	1225	0	0	Draw of Lots Draw of Lots	0	3
225	Within 4 Km from Lakhanpur Chowk towards Piplimal Chowk on NH-49 (Old NH- 200) on LHS	JHARSUGUDA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
226	Between KM stone No 102 and 109 on LHS while going from Rimuli towards Keonjhar on NH-20 (Old NH-215)	KEONJHAR	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
227	Within 1.5 Km from Gandhi Chaka, Keonjhar towrads Raisuan on Keonjhar - Raisuan Road (old NH-215)	KEONJHAR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
228	From Remed Chowk to Khetrajpur on Remed - Khetrajpur road	SAMBALPUR	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
229	Talpatia Police Station to Bhasma Chowk on SH-10 on LHS	SUNDERGARH	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
230	Within 02 KM from Sherajuddin Chowk towards DD College on DD College road.	KEONJHAR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
231	Within 3 KM from Gandhi Chowk, Keonjhar towrads Sambalpur on NH-49 (Within Muncipality limit)	KEONJHAR	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
232	Between Gariamal Chowk to Bargaon Chowk on SH-10 on RHS whilw going from Sundergarh towards Rourkela	SUNDERGARH	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
233	Within 5 Km from Tudalaga Chowk towards Kutra Chowk on SH10 on RHS	SUNDERGARH	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
234	Between KM stone No 190 to 195 on NH - 20 (Old NH-215) on RHS while going from Keonjhar towards Anandpur	KEONJHAR	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
235	Between KM stone No 160 to 165 on NH - 20 (Old NH-215).	KEONJHAR	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
236	Raghunathpali Chowk to Kolabira Chowk on NH-49 (Old NH-200)	JHARSUGUDA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
237	Within 3 Km from Damanjodi chhak	KORAPUT	Regular	150	SC	CFS	35	35		0	0		0	3
237	towards Potangi on NH-26 Deogarh new bypass on NH-49 (old NH-6)	KURAPUT		150	SC	CFS	35	35	1225		0	Draw of Lots	0	3
238	on RHS while going from Sambalpur towards Keonjhar	DEOGARH	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
239	Within 3 KM from Talpatia Chowk (Intersection point of old SH-10 & new bypass) towards Beherapat Chowk via new Jharsuguda bypass on SH-10 on RHS while going Sundargarh towards Jharsuguda	JHARSUGUDA	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
240	Within 2 KM from Masnikani towards Bhasma on SH-10 on RHS	SUNDERGARH	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Within 3 KM from Talpatia Chowk (Intersection point of old SH-10 & new bypass) towards Talpatia Police Station via		Regular							25	60			_
	new Jharsuguda bypass on SH-10 on RHS Gariamal Chowk to Bargaon Chowk on	JHARSUGUDA	Regular	100	OPEN	DC	35	35	1225	0	60	Draw of Lots	15	5
242	SH10 on LHS	SUNDERGARH		100	ST	CFS	35	35	1225		0	Draw of Lots	0	3
243	Within 6 KM from Ranibagicha Chowk towards Kirei Chowk on SH-10 on LHS	SUNDERGARH	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
244	Kisan Chowk to Talpatia Chowk, Jharsuguda on LHS	JHARSUGUDA	Regular	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
245	Kherual bridge to Badmal Chowk on SH-10 on LHS while going from Sambalpur towards Jharsuguda	JHARSUGUDA	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
246	Between Km Stone no. 192 and 197 on NH- 326	MALKANGIRI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
247	Masnikani Chowk to Kirei Chowk on SH10 on RHS	SUNDERGARH	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

Location Sl. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
248	Piplimal to Chhualiberna via new Belpahar bypass on NH49 (Old NH-200) on RHS	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
249	Kalimandir to Jharsuguda Engineering School on NH-49 (old NH- 200)	JHARSUGUDA	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
250	Within 5 Km from Laxmipur Police Station towards Raygada on NH-326	KORAPUT	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
230	Within 2 KM from Bankopada Chowk	KOKAFUT	D	130	31	CF3	33	33	1223	25	0	Diaw of Lots	U	3
251	(Subdega) towards Talsara on SH-24	SUNDERGARH	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
252	Within 3 Km from Siriapali Chowk on NH- 49 (Old NH-200)	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
253	Kisan Chowk to Jharsuguda Bus Stand on NH-49 (old NH-200)	JHARSUGUDA	Regular	150	OPEN CC 2	DC	20	20	400	25	75	Draw of Lots	15	5
254	Within 3 KM from Panchgaon chowk towards Kanaktora on NH-49 on RHS (Old NH-200)	JHARSUGUDA	Regular	150	OBC CC 1	DC	35	35	1225	25	75	Draw of Lots	15	4
255	Kutra Chowk to Litibeda Chowk on SH10 on LHS	SUNDERGARH	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
256	Within 2 KM from Masnikani towards Bhasma on SH-10 on LHS	SUNDERGARH	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
257	Within 2 KM from OSAP Batallion, Sankara, Sundargarh	SUNDERGARH	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
258	Masnikani Chowk to Kirei Chowk on SH10 on LHS	SUNDERGARH	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
259	Within 5 Km from Ghataghumar chhak towards Koraput on NH-26.	KORAPUT	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
260	Ranibandh Chowk to Subas Chowk in Rajgangpur	SUNDERGARH	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
	Within 3 Km from Beherapat Chowk towards Talpatia on new Jharsuguda Bypass on SH10 on LHS	JHARSUGUDA	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
262	Within 3 KM from Sundargarh Govt Bus Stand towards Bhojpur	SUNDERGARH	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
263	Within 2 Kms from Jhanda Chowk, Jharsuguda towards Vedanta Ltd on LHS	JHARSUGUDA	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
264	Between km Stone no. 115 and 118 on NH-326	MALKANGIRI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
265	Lamloi Chowk to Rajgangpur Bus stand on PWD Road	SUNDERGARH	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
266	Within 2 Km from Govindpur Chowk on NH-49	JHARSUGUDA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
267	Within 5 Km from Baipariguda chhak towards Malkangiri on NH-326	KORAPUT	Regular	150	OPEN CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5

				LIST O	FADVENTIGED									
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in KIs	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
268	Sambalpur city between Jail Chowk and Laxmi Talkies Chowk on VSS marg Within 5 Km from Madanpur Rampur	SAMBALPUR	Regular	100	ST	CFS	20	20	400	0 25	0	Draw of Lots	0	3
269	Chowk towards Tumudibandh on NH-59 on LHS	KALAHANDI	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
203	Within 4 Km from Dumriput Chowk		D 1	150	OBC	DC		- 33	1223	25	, , ,	210W 01 L0t3	13	-
270	towards Koraput on NH-26	KORAPUT	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
271	Kisan Chowk to Talpatia Chowk, Jharsuguda on RHS	JHARSUGUDA	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
272	Within 5 Km from Devki Cold storage towoards Jeypore on NH-26	KORAPUT	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
273	Between km Stone no. 125 and 130 on NH-326	MALKANGIRI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
274	Within 1 KM from Kudaloi Chhak on NH- 49 (Old NH-200)	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
2/4	Within 3 KM from Panchgaon chowk	JHAKSUGUDA		150	OPEN	DC	33	33	1225		75	Draw or Lots	15	5
	towards Jharsuguda on NH-49 on RHS (Old		Regular							25				
275	NH-200)	JHARSUGUDA		150	OPEN	DC	35	35	1225		75	Draw of Lots	15	5
276	Within 5 Km from Malkangiri SP Office towards Kalimela on NH-326	MALKANGIRI	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
277	Between km Stone no. 150 and 155 on NH-326	MALKANGIRI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
278	Belpahar Railway crossing to TRL via Gumadera	JHARSUGUDA	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
279	Within 2 Km from Kadamdihi Chowk towards Belpahar on LHS on NH-49 (Old NH-200)	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
280	Between Govindpalli Forest Gate and	MALKANGIRI	Regular	150	OBC PH	DC	35	35	1225	25	75	Draw of Lots	15	4
200	Balimela Chhak on LHS on NH-326 Between km Stone no. 160 and 164 on	IVIALNAINGIKI	D 1	130	OBCPH	υL	33	33	1223		/3	DIAW UI LU(S	15	4
281	NH-326	MALKANGIRI	Regular	150	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
282	Within 4 KM from Kutra Fire Office towards Sundargarh on SH 10 on LHS	SUNDERGARH	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
283	Within 8 Km from Kunduli govt. Hospital towards Similiguda on RHS on NH-26	KORAPUT	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
204	Within 3 KM from Chhualiberna towards Gandhi Chowk on RHS on NH-49 (old NH-	INVESTICATE	Regular	150	OPC	DC	25	35	1225	25	75	Draw of Lat-	15	
284	200)	JHARSUGUDA		150	OBC	υC	35	35	1225		75	Draw of Lots	15	4
	Within 3 KM from Piplimal Chowk towards Chhualiberna on new Belpahar bypass on		Regular							25				
285	RHS on NH-49 (old NH-200)	JHARSUGUDA		150	OPEN	DC	35	35	1225		75	Draw of Lots	15	5
286	Beherapat chowk to Gandhi Chowk on RHS on NH-49 (old NH-200)	JHARSUGUDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
287	Beherapat chowk to Gandhi Chowk on LHS on NH-49 (old NH-200)	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
288	Within 2 KM from Panchgaon chowk towards Jharsuguda on NH-49 on LHS (Old NH-200)	JHARSUGUDA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
	Within 5 Km from Gandhi chowk towards Chhualiberna on RHS on NH-49 (old NH-		Regular							25				
289	200) Bijupatnaik Chowk, Jharsuguda to Vedanta Main Gate on RHS	JHARSUGUDA JHARSUGUDA	Regular	150 150	OPEN ST	DC CFS	35 35	35 45	1225 1575	0	75 0	Draw of Lots Draw of Lots	15 0	3
291	Within 2 Kms from Jhanda Chowk, Jharsuguda towards Vedanta Ltd on RHS	JHARSUGUDA	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
292	Within 3 Km from Luhapankh Panchayat Office towards Sambalpur on RHS on NH- 55 (old NH-42)	SAMBALPUR	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
293	Patnagarh on main road within Patnagarh NAC limit	BOLANGIR	Regular	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
294	Within 1 Km from Ghodaghat Chowk towards Raipur within Bhawanipatna Town Muncipality on LHS	KALAHANDI	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
295	Dhanupalli to Maneswar on NH-55 (Old NH-42) on RHS while going from Sambalpur towards Maneswar	SAMBALPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
296	Between milestone No.229 and 232 on NH 49 (old NH-200)	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
297	Village-Katarbaga on NH-49 (old NH-200) Sambalpur city between Malipada to	JHARSUGUDA	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
298	Durgapali on Ring road	SAMBALPUR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
299	Between KM stone no. 2 and 4 on MDR-29 (Basundhara MCL mines Road)	SUNDERGARH	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
300	Within 6 KM from Kanaktora Chowk towards Gobindpur on RHS on NH-49 (Old NH-200).	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
301	Within 3 Km from Badbahal Chowk towards Kuchinda on NH-49	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
302	Piplimal to Chhualiberna via new Belpahar bypass on NH49 (Old NH-200) on LHS	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
303	Govindpali Bus stand to Mathili within 8 Km from Govindpali Bus stand on on LHS on NH-326	MALKANGIRI	Regular	150	OBC CC 1	DC	35	35	1225	25	75	Draw of Lots	15	4
304	Kenduguda Badanala Chak to Khambariguda to on NH-326 within 3 km from Kenduguda Badanala Chak	RAYAGADA	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
305	Within 4 Km from Badabangi Chowk towrads Gunupur on SH-4	RAYAGADA	Regular	100	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
303	Between Malkangiri SP Office to	KATAGADA		100		DC	33	33	1225		60	DIAW OI LOIS	15	3
306	Malkangiri Bus-stand	MALKANGIRI	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
	Within 2 KM from Kutra Fire Office		Regular							25				
307	towards Sundargarh on SH 10 on RHS	SUNDERGARH	rieguiu.	100	OPEN	DC	35	35	1225		60	Draw of Lots	15	5
308	Dhodra to Papdahandi within 4 km from Dhodra chhak on NH-26	NABARANGPUF	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
													-	
	Within 5 Km from Kunduli govt. Hospital		Regular							25				
309	towards Potangi on NH-26 on RHS	KORAPUT		150	OPEN	DC	35	35	1225		75	Draw of Lots	15	5
	Malkangri bus stand towards Mathili within 8 km from Malkangiri bus stand on		Regular							25				
310	RHS on NH-326	MALKANGIRI	rregulai	150	OBC	DC	35	35	1225	23	75	Draw of Lots	15	4
	Within 3 Km from Jeypore Town Police					-					-			
	Station towards Bodiguma on NH-26		Regular							25				
311	(within Muncipality limit)	KORAPUT		150	OPEN	DC	20	20	400		75	Draw of Lots	15	5
312	Within 5 Km from Baipariguda chhak towards Jeypore on NH-326	KORAPUT	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
312	Between km Stone no. 166 and 170 on	KUKAPUT		150	OPEN	CC	33	33	1225		10	ышинд	30	3
313	NH-326	MALKANGIRI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Umerkote old bus stand to Kondagaon													
	within 6 Km from Umerkote old bus stand		Regular							25				
314	on SH-39 Dumriput Chowk to Sunabedha within 4	NABARANGPUF		100	OBC	DC	35	35	1225		60	Draw of Lots	15	4
	Km from Dumriput Chowk towards		Regular							25				
315	Sunabedha on NH-26	KORAPUT	Regulai	150	OPEN	DC	35	35	1225	23	75	Draw of Lots	15	5
					-	-					-			
	Within 5 Km from Power House chowk,		Regular		OPEN CC 1					25				
316	Jeyore towards Baipariguda on NH-326	KORAPUT		150		DC	35	35	1225		75	Draw of Lots	15	5
	Within 8 Km from Adarsh Vidyalay,		Regular							0				
317		NABARANGPUF	Regulai	100	ST	CFS	35	35	1225	Ü	0	Draw of Lots	0	3
	·													
	Papdahandi to Maidalpur within 5 km		Regular							25				
318	from Papadahandi chhak on NH-26	NABARANGPUF		150	OBC	DC	35	35	1225		75	Draw of Lots	15	4
319	Within 3 Km Nuagaon Chowk on SH-15	SAMBALPUR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
313	Within 4 Km from Baraniput Forest Office	SAIVIDALFUR		100	Or EIN	DC	33	33	1443		00	DIAW OI LOUS	13	,
	towards Jeypore on NH-26 (Within		Regular							25				
320	Muncipality limit)	KORAPUT		150	OPEN	DC	20	20	400		75	Draw of Lots	15	5
221	Within 5 Km from Papdahandi Chowk		Regular	400	050		2-		4000	25				
321	towards Dabugaon on SH-39	NABARANGPUF	-	100	OBC	DC	35	35	1225		60	Draw of Lots	15	4
322	Between Km stone No. 12 to 17 on SH-39	NABARANGPUF	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

				LIST O	F ADVENTIGED		O: :00=::							
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in KIs	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
323	Within 3 Km from Papermill Junction, Jeypore towards Bodiguma on NH-26 Within 2 Km from Koraput Coffee Board	KORAPUT	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
324	Main Gate towards Koraput town on NH- 26	KORAPUT	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
324	Umerkote New bus stand to Raighar	KUKAPUT		150	OPEN	CC	35	35	1225		10	Bidding	30	5
325	within 6 km from Umerkote New bus stand on SH-40	NABARANGPUI	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
323		NABARANGI OI		100	OBC	DC	33	33	1223		00	Diaw of Lots	15	
326	Within 5 Km from FCI Godown, Rayagada towards J. K. pur on NH-326	RAYAGADA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
327	Between Govindpalli Forest Gate and Balimela Chhak on RHS on NH-326	MALKANGIRI	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
328	Between km Stone no. 139 and 145 on NH-326	MALKANGIRI	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
	Dambasara Chhak to Gunpur within 8 Km		Regular							25				
329	from Dambasara chhak on LHS Kashinagar Chowk towards	RAYAGADA		100	OBC	DC	35	35	1225		60	Draw of Lots	15	4
330	Parlakhemundi within 5 Km from Kashinagar Chowk on SH 4	RAYAGADA	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Govindpali Bus stand to Mathili within 8 Km from Govindpali Bus stand on on RHS		Regular							25				
331	on NH-326	MALKANGIRI		150	OPEN	CC	35	35	1225		10	Bidding	30	5
332	Within 5 Km from J.K.pur chhak towards Kalyansinghpur on SH-5	RAYAGADA	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Malkangri bus stand towards Mathili		Danislan							25				
333	within 8 km from Malkangiri bus stand on LHS on NH-326	MALKANGIRI	Regular	150	OPEN	CC	35	35	1225	23	10	Bidding	30	5
334	Between Km stone No. 23 to 26 on SH-39	NABARANGPUI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
335	Within 4 Km Ramnaguda Block office towrds Badabangi chowk on NH-326	RAYAGADA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
336	Kenduguda chhak to Padmapur within 5 Km on SH-16	RAYAGADA	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
330	Nabrangpur Collecttor office to Papadahandi within 5 Km from	Tuttions	Regular	100	330		- 33	33	1225	25	- 55	514W 61 2565	10	
337	Nabrangpur Collector office Chhak on NH- 26	NABARANGPUI	_	150	OPEN	СС	35	35	1225		10	Bidding	30	5
	Dambasara Chhak to Gunpur within 8 Km from Dambasara chhak on RHS	RAYAGADA	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
330					2.2			- 33				2.2 0. 2013		
339	Muchkapadar Chowk to Gumuda within 2 KM from Muchkapadar on NH-326	RAYAGADA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
340	Within 5 Km from Tandikona Chowk towards Bisamcuttack on SH-46	RAYAGADA	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
5.0				100	000						•	0. 200		

						LOCATIONS								
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
341	Within 4 Km from Amlabhata Chowk, Rayagada towards Ramnaguda on NH-326 Within 8 Km from Rupkona Chowk	RAYAGADA	Regular Regular	150	OPEN OPEN CC 1	СС	35	35	1225	25 25	10	Bidding	30	5
342	towards Laxmipur on NH-326	RAYAGADA	Negulai	150	OF EN CC 1	DC	35	35	1225	23	75	Draw of Lots	15	5
343	Between Gandhi Chowk and Power house Chowk, Jeyore on LHS on NH-326 Within 5 Km from Khairput Block office	KORAPUT	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
344	towards Balimela on SH-47	MALKANGIRI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
345	Within 3 KM from Ambodala Chhak towards Muniguda on SH-6	RAYAGADA	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
346	Within 3 Km from Berdeliguda on SH-5	RAYAGADA	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
347	Within 8 Km from Bodiguma Junction Towards Kotpad on NN-63 on RHS	KORAPUT	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
348	Damanjodi Chowk towards Potangi on NH- 26 with 2 KM from Damanjodi Chowk	KORAPUT	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
349	GIT College, Gunupur towards Parlakhumundi on SH-4 within 3 Km GIT college	RAYAGADA	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
350	Kashinagar Chowk towards Gunupur within 5 Km from Kshinagar Chowk on SH 4	RAYAGADA	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
351	Between Km stone No. 15 to 20 on SH-45	RAYAGADA	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
352	Between Km Stone No. 8 to 12 on SH-45	RAYAGADA	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
353	Between Km stone No 175 to 178 on NH- 326	MALKANGIRI	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
354	Within 5 Km from Dabugaon Chowk towards Umecote on SH-39	NABARANGPU	Regular	100	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
355	From Goshala to Kalamati on NH-53 (old NH-6) on RHS while going from Sambalpur towards Bargarh	SAMBALPUR	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
356	Between Christianpeta Chowk and Power House Chowk, Jeypore	KORAPUT	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
357	Within 8 Km from Chitrakonda block office towards Sileru on SH-47	MALKANGIRI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
358	Laxmipur Chhak to Narayanpatna within 4 km from Laxmipur Chhak on SH-51	KORAPUT	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
359	Between Gandhi Chowk and Power house Chowk, Jeyore on RHS on NH-326	KORAPUT	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5

Location SI. No. Name Of Location SI. No. Name Of Location Name Of Location Name Of Location SI. No. Revenue District Potential (MS+HSD) in Kls CC 1/OPEN CC 2/OPEN PH) Revenue District PH/OBC/OBC CC 1/OBC CS (CC/DC/CFS) PH/OPEN/OPEN CC 2/OPEN PH) Minimum Frontage of Site (in M) Minimum Front	mated fund quired for elopment of astructure at Rs in Lakhs)	Fixed Fee / Min bid amount (Rs in) Lakhs)	Security Deposit (Rs in Lakhs)
1 2 3 4 5 6 7 8 9a	9b 10	11	12
Within 4 Km from Gandhichowk, Kotapad 360 towards Jagdalpur on NH-63 KORAPUT Regular 150 OPEN CC 35 35 1225	10 Bidding	30	5
Within 8 Km from Raighar RMC office 361 towards Kundei on SH-40 NABARANGPUF 100 OBC DC 35 35 1225	60 Draw of Lot	15	4
362 Between Km stone No 12 and 17 on SH-5 RAYAGADA Regular 100 SC CFS 35 35 1225 0	0 Draw of Lot:	. 0	3
Within 8 Km from Bodiguma Junction 363 Towards Kotpad on NN-63 on LHS KORAPUT 150 OPEN DC 35 35 1225	75 Draw of Lots	15	5
364 Between Km stone No 5 and 10 on SH-5 RAYAGADA Regular 100 OPEN DC 35 35 1225 25	60 Draw of Lot:	15	5
Between Km Stone No 319 and 321 on NH- 365 26 KORAPUT Regular 150 OBC DC 35 35 1225	75 Draw of Lot:	15	4
Within 5 Km from Kakariguma Chhak Regular 150 ST CFS 35 35 1225	0 Draw of Lot:	0	3
Within 8 Km from Chitrakonda block 367 office towards Balimela on SH-47 MALKANGIRI Regular 100 OPEN DC 35 35 1225	60 Draw of Lot:	15	5
368 Between Binka to Nagapali on SH-55 SONEPUR Regular 100 OPEN CC 1 DC 35 35 1225 25	60 Draw of Lots	15	5
Within 4 Km from Champakhari on NH- 369 326 MALKANGIRI Regular 150 OBC DC 35 35 1225	75 Draw of Lot:	15	4
Within 5 Km from Nabrangpur Municipality office towards Bodiguma on 370 NH-26 (within Municipality limit) NABARANGPUF 150 ST CFS 20 400	0 Draw of Lot	0	3
Within 5 Km from Kakariguma Chhak Regular 150 OPEN CC 35 35 1225	10 Bidding	30	5
Within 5 Km from Nabrangpur Municipality office towards Papdahandi Regular 372 on NH-26 NABARANGPUF 150 OPEN DC 20 400	75 Draw of Lot:	15	5
Badarama to Jamankira on NH-53(old NH-6) on RHS while going from Sambalpur SAMBALPUR Regular SAMBALPUR DGC DC 35 45 1575	75 Draw of Lot:	: 15	4
Within 8 Km from Bodiguma Junction 374 towards Koraput on SH-48 KORAPUT Regular 100 OPEN DC 35 35 1225	60 Draw of Lot:	15	5
Within 8 Km from Raighar RMC office 375 towards Umercote on SH-40 NABARANGPUF Regular 100 SC CFS 35 35 1225	0 Draw of Lot:	0	3
Within 8 Km from Koraput Junction Regular 100 OPEN DC 35 35 1225	60 Draw of Lot:		5
377 Kesaibahal to Solbaga on SH-24 SAMBALPUR Regular 100 OBC DC 35 35 1225 25	60 Draw of Lots	15	4
Within 5 KM from Bhadrasahi Chaka towards Rugudi on NH-520 (old NH-215) on RHS while going from Joda towards Regular 25 378 Koira KEONJHAR 150 OPEN CC 35 45 1575	10 Bidding	30	5
From Ainthapali to Remed Chowk on NH-	0 Draw of Lot:		3

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
380	Between Charmal and Barbank on NH-55 (old NH-42) on LHS while going from Sambalpur to Angul Jabakandi Primary School towards	SAMBALPUR	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
381	Boipaiguda on NH-326	KORAPUT	Regular	150	OPEN	CC	35	35	1225	25	10	Bidding	30	5
382	Within 3 Km from Bariniput on NH-26 (old NH-201)	KORAPUT	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
383	Dhanupalli to Maneswar on NH-55 (Old NH-42) on LHS while going from Sambalpur towards Maneswar	SAMBALPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
384	Within 2 Km from Govindpali Bus stand towards Baipariguda on NH-326	MALKANGIRI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
385	Within 3 KM from Deuli chowk towards Sundargarh on SH 10 on RHS	SUNDERGARH	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
386	Jharsuguda Engineering School to Purna Chowk on NH-49 (old NH-200)	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
	Within 3 km from Sindurpank Chowk on Sambalpur- Dhanupalli Chowk Link road connecting NH-53 (old NH-6) & NH-55		Regular							25				
387	(Old NH-42)	SAMBALPUR	0 1	100	OBC	DC	20	20	400	0	45	Draw of Lots	15	4
388	Within 3 Km from Mukundpur on NH-326	RAYAGADA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
389	Within 3 KM from Piplimal Chowk towards Chhualiberna on new Belpahar bypass on LHS on NH-49 (old NH-200)	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
365	LT13 OTT NTT-45 (OIG NTT-200)	JIIAKSOGODA	Regular	130	OFEN	DC	33	- 33	1223	25	73	Diaw of Lots	15	J
390	Gandhi Chowk to ESI chowk, Brajrajnagar Within 6 KM from Kanaktora Chowk	JHARSUGUDA	negulai	100	OPEN	DC	20	20	400	23	45	Draw of Lots	15	5
391	towards Belpahar on LHS on NH-49 (Old NH-200)	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
392	Within 3 KM from Dungripalli Chowk on NH-26	SONEPUR	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
393	Within 8 Km from Indrabati River bridge towards Bodiguma on NH-26	KORAPUT	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
394	Between Jail Chowk to Dhanupalli Chowk on NH-55 (Old NH-42)	SAMBALPUR	Regular	150	OPEN CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
395	Within Salepali and Sindhol on SH-15	SONEPUR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
396	Village Kureimal on NH-49 (old NH-200)	JHARSUGUDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
397	From Jamankira to Tiklipada on NH-53 (old NH-6)	SAMBALPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
398	Chaunrpur on Kachehri Chowk -Gosala road via new Mahanadi bridge	SAMBALPUR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

Location Sl. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8	1	9a	9b	10	11	12
399	From Rairakhole to Daincha on NH-153B	SAMBALPUR	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
400	Within 5 Km from Kunduli govt. Hospital towards Potangi on NH-26 on LHS From Goshala to Kalamati on NH-53 (old	KORAPUT	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
401	NH-6) on LHS while going from Sambalpur towards Bargarh	SAMBALPUR	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
402	Sambalpur Town GM College to Modipara Chowk on Main Road	SAMBALPUR	Regular	100	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
403	Between Durgapali and NH-53 (old NH-6) crossing on Sambalpur ring road	SAMBALPUR	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
404	New Rengali by-pass Road on RHS while going from Rengali towards Lapanga on SH-10	SAMBALPUR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
405	From Madhupur to Kadaligarh on NH- 153B	SAMBALPUR	Regular	150	OPEN PH	DC	35	35	1225	25	75	Draw of Lots	15	5
406	Within 2 Km from Jamankira Chowk on NH-53 (old NH-6)	SAMBALPUR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
407	From Daincha to Naktideul on SH-24 New Rengali by-pass Road on LHS while going from Rengali towards Lapanga on SH-10	SAMBALPUR SAMBALPUR	Regular Regular	100	OBC OPEN	DC DC	35 35	35 35	1225	25 25	60	Draw of Lots Draw of Lots	15 15	5
409	From Sonepur Block Chowk to Mahule on NH-57	SONEPUR	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
410	Within 3 Km from Jujumura Police Station towards Rairakhol on RHS while going from Sambalpur towards Anugul on NH-55	SAMBALPUR	Regular	150	ST	CFS	35	45	1575	0	0		0	3
410	(old NH-42) Sambalpur City between Jail Chowk and	SAMBALPUR	Regular	150	OPEN		20	20	400	25	0 45	Draw of Lots		5
411	SP Office on Main Road Sambalpur City between Modipara Chowk and Sambalpur Railway Station on Farm Road	SAMBALPUR	Regular	100	OPEN	DC DC	20	20	400	25	45	Draw of Lots Draw of Lots	15 15	5
	Within 3 Km from Rairakhole Post Office on NH-55 (Old NH-42) on RHS while going		Regular							25				
413	from Sambalpur towards Angul Within 2 Km from Ainlachhat Chowk	SAMBALPUR	Regular	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
414	towards Sambalpur on SH-15 Patrapali to Saida Kindira Road Crossing	SONEPUR	Regular	100	OBC	DC	35	35	1225	0	60	Draw of Lots	15	4
415	on NH-49 (old NH 200) Within 6 Km from Padiabahal towards	SAMBALPUR	Regular	150	SC	CFS	35	35	1225	25	0	Draw of Lots	0	3
416	Badrama on NH-53 (old NH-6)	SAMBALPUR	ricgulai	150	OPEN	СС	35	45	1575	17	10	Bidding	30	5

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
				Kls	CC 1/OPEN CC 2/OPEN PH)					(Rs in Lakhs)	RO (Rs in Lakhs)		·	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
417	Sambalpur town from Ainthapalli Chowk to Laxmi Talkies Chowk on Main Road	SAMBALPUR	Regular	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
418	From Collectorate Office, Sambalpur to ring road	SAMBALPUR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
419	Bhutapada Chowk to Sunapali to NH 6 (New NH 53) (Not on NH)	SAMBALPUR	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
420	Between Halipali to Hatibari on NH-55 (old NH-42) on RHS while going from Sambalpur to Angul	SAMBALPUR	Regular	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
421	Between Km stone no 39 and 41 on Bhawanipatna-Khariar road in Balangir district	BOLANGIR	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
422	Within 3 Km from Sonepur Block Chowk towards Manamunda on Collectorate Road	SONEPUR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
423	Within 2 Km from Kuchinda Bus Stand on NH-49 (within NAC limit)	SAMBALPUR	Regular	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
	From Kalamati to Godbhaga on NH-53 (old NH-6) on RHS while going from Sambalpur	SAMBALPUR	Regular		SC	CFS	35	45	1575	0	0		0	3
424	towards Bargarh Khagsipali to Pardesipada on Mundoghat road	SAMBALPUR	Regular	150 100	OBC	DC	20	20	400	25	45	Draw of Lots Draw of Lots	15	4
	Between Halipali to Hatibari on NH-55 (old NH-42) on LHS while going from	SAMBALPUR	Regular		OPEN			45		25				
426	Sambalpur to Angul From Sason to Rengali Tehasil office on SH- 10 on LHS while going from Sambalpur to		Regular	150		CC	35		1575	25	10	Bidding	30	5
427	Jharsuguda Within 4 Km from Dadar Nuapali on NH-	SAMBALPUR	Regular	100	OPEN	DC	35	35	1225	0	60	Draw of Lots	15	5
428	53 (old NH-6) From Rairakhole to Madhupur on NH- 153B	SAMBALPUR SAMBALPUR	Regular	150 150	ST OBC	CFS DC	35 35	45 35	1575 1225	25	0 75	Draw of Lots Draw of Lots	15	3
430	Sonepur Town (Within Muncipalty Limit)	SONEPUR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
431	From Gunderpur to Putiapali on SH-15	SAMBALPUR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
432	From Kalamati to Godbhaga on NH-53 (old NH-6) on LHS while going from Sambalpur towards Bargarh	SAMBALPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	Within 5 Km from Lanjigarh towards intersection road of Raygada Bhawanipatna Road on SH-45	KALAHANDI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Within 2 Km from Sonapali on Motijharan Road	SAMBALPUR	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
435	Between Charmal and Barbank on NH-55 (old NH-42) on RHS while going from Sambalpur to Angul	SAMBALPUR	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
436	Within 4 Km from Birachandrapur on NH- 55 (Old NH-42)	SAMBALPUR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
437	Within 5 Km from Koraput Traffic Chhak towards Raygada on NH-326	KORAPUT	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
438	From Barbank to Rairakhole on NH-55 (Old NH-42)	SAMBALPUR	Regular	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
439	From Rengali to Lapanga on LHS on SH-10	SAMBALPUR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
440	Within 2 Km from Ghodaghat Chowk towards Junagarh within Bhawanipatna Town Muncipality on RHS on NH-26	KALAHANDI	Regular	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
441	Within 4 KM from Bhadrasahi Chaka towards Barbil on SH-10	KEONJHAR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
442	Between milestone No.233 and 234 on NH- 49 (old NH-200)	JHARSUGUDA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Within 6 KM from Ghatagaon Bypass Chowk towards Denkhikote on NH - 20 (Old NH-215) on RHS while going from		Regular							25				
443	Anandpur towards Keonjhar From Remed Chowk to Hirakud on	KEONJHAR	Regular	150	OBC OPEN CC 1	CC	35	45	1575	25	10	Bidding	30	4
444	Hirakud Dam road	SAMBALPUR		100	0. 2 20 2	DC	20	20	400		45	Draw of Lots	15	5
445	From Lapanga Chowk to Thelkoloi Police Station on SH-10 on LHS while going from Sambalpur towards Jharsuguda	SAMBALPUR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
446	Within 3 Km from Umuri chhak towards Jeypore on NH-26	KORAPUT	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
447	Within 5 KM from Remuli bypass Chaka towards Joda on NH-520 (old NH-215) on RHS while going from Keonjhar towards Joda)	KEONJHAR	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
	With 3 Km from Jamtal Chowk toards Anugul on NH-55 (old NH-42) on RHS while going from Sambalpur towards		Regular							25		J		
448	Anugul Within 5 Km from Jarasingha Chowk towards Sambalpur on LHS on NH-55 (old	SAMBALPUR	Regular	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
449	NH-42)	SAMBALPUR	cguiui	150	OPEN	СС	35	45	1575	==	10	Bidding	30	5
450	Within 3 Km from Kantabada Bazar towards Baranga on Chandaka Road	Khordha	Regular	100	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
451	On NH-57 between Daspalla and Nayagarh (Km stone 231 and Km Stone 234)	Nayagarh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in KIs	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
452	Km Stone 278 to Km Stone 281 Via Begunia Police Station, Begunia on NH 57	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
453	From Milestone No. 466 to Milestone N. 468 on LHS from Khurda to Visakhapatnam on NH-16	Khordha	Regular	150	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
454	Chandaka Area	Khordha	Regular	100	OBC CC 1	DC	30	20	600	25	0	Draw of Lots	15	4
455	Angul to Kandasar on NH-55	Angul	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
456	Damana Square to City Primary Hospital on Chandrasekharpur Road.	Khordha	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
457	Within 2 Km from NH-16 towards Jatni (Not on NH)	Khordha	Regular	100	OPEN	DC	30	20	600	25	0	Draw of Lots	15	5
458	Between Khordha New Bus Stand and Chandichua Chak on TLC Road	Khordha	Regular	100	OBC	DC	30	20	600	25	0	Draw of Lots	15	4
459	Within 2 kms on either side of Jayamangala on NH 57	Khordha	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
460	Within 2 kms on either side of Daleiput on NH-16	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
461	Within 5 kms from Itamati Police Station towards Khordha on NH 57	Nayagarh	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
462	On RHS from Jaydev Vihar Chhak to CRPF Chhak on Service Road	Khordha	Regular	150	OBC	DC	30	20	600	25	60	Draw of Lots	15	4
463	Between City Womens College to Jagamara Chowk in Bhubaneswar	Khordha	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
464	Khurda Collector Office Chhak to Pallahat	Khordha	Regular	100	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
465	Between Km Stone 285 to Km Stone 289 on NH 57	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
466	On LHS from Chhatabar Chhak towards Pitapalli Chhak on Khurda Chandaka Road	Khordha	Regular	150	OBC	DC	30	20	600	25	60	Draw of Lots	15	4
467	Jarpada Chak to Katada Chak on NH55 LHS	Angul	Regular	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
468	Mile Stone No. 203 to Mile Stone 205 on NH-57 (Old NH 224)	Nayagarh	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
469	Between Km stone No: 509 to Km stone No: 512 on NH-16 towards Balugaon on LHS	Khordha	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
470	Between Odagaon town and Luharkhani on Luharkhani Nayagarh road.	Nayagarh	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
471	Tentuliapada to Barabahali on NH55 on LHS from Dhenkanl to Angul mile stone no. 202 to milestone no. 200	Dhenkanal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

Location Sl. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
472	Between Km Stone 505 to Km Stone 509 on NH -16 on RHS towards Visakhapatnam	Khordha	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
473	NH-16 to Naka Gate Via Kalinga Nagar, Bhubaneshwar	Khordha	Regular	150	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
474	Khurda town-Within Municipal Imit	Khordha	Regular	100	OPEN	DC	30	20	600	25	0	Draw of Lots	15	5
475	Nuagaon on NH-57	Nayagarh	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
476	On RHS between Kalinga Hospital Chhak to Patia Square on Nandan Kanan Road	Khordha	Regular	150	OBC	DC	30	20	600	25	60	Draw of Lots	15	4
477	From CRPF Chhak to Power House Chhak on CRPF DAV Road	Khordha	Regular	150	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
478	On LHS from KIIT Chowk to Nandan Vihar, Bhubaneswar on Nandankanan Road	Khordha	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
479	Within 3 km on LHS from Khorda Collector Office towards Balugaon on NH-16 (Old NH-5)	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
480	On LHS between Milestone 490 to Milestone 496 on NH-16 towards Visakhapatnam	Khordha	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
481	Between Mahipur Police Outpost to Mahipur Bus Stand on NH-57	Nayagarh	Regular	150	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
482	Between Km stone 513 to Km stone 518 on NH-16 towards Visakhapatnam on RHS	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
483	On RHS from KIIT Chowk to Nandan Vihar Junction, Bhubaneswar on Nandankanan Road	Khordha	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
484	Within 3 km on RHS from Khorda Collector Office towards Balugaon on NH-16 (Old NH-5)	Khordha	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
485	Between Gandamunda Chhak to Mahaveer Chowk, Pokhariput on Jagmara Sundarpada road	Khordha	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
486	From Damana Chhak to Sailashree Vihar on S S Vihar Road	Khordha	Regular	150	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
487	Between Km Stone 21 to Km Stone 26 on Kantilo Fategarh Road	Nayagarh	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
488	Between Lenkudipada and Nayagarh town on SH-21.	Nayagarh	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
489	Within 1 km of Dlghiri on NH-57	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
490	Within 2 kms of Laxmi Bazar, Gopinathpur on Fategarh Road	Khordha	Regular	100	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
491	Nayagarh town (within NAC)	Nayagarh	Regular	100	OBC	DC	25	25	500	25	0	Draw of Lots	15	4
492	Within 2 kms of Janla Post Office on NH16 towards Khordha	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

					FADVENTISED		0002							
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
493	Between Infocity Square and Patia Chowk on Infocity Avenue	Khordha	Regular	150	OPEN CC 1	DC	30	20	600	25	60	Draw of Lots	15	5
494	From NH-16 to AllMS, Bhubaneshwar via Biju Pattnaik State Police Academy on AllMS Road.	Khordha	Regular	150	OBC	DC	30	20	600	25	60	Draw of Lots	15	4
495	Within 4 km of Kuzimahal towards Barang PS on Chandaka-Barang Road.	Khordha	Regular	100	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
496	Between Acharya Vihar Chowk and Kalinga Hospital Chowk Via Sainik School	Khordha	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
497	Within 7 km from Talakheta Chowk towards Khordha Collector Office Junction on NH 16/Old NH-5	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
498	Within 2 kms from Nimapara towards Bhubaneswar on SH-13	Puri	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
499	Uttara Chak to Balakati	Khordha	Regular	100	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
500	Within 1 Km towards Puri and 1.5 KM towards Satapada from the crossing of Khadipada - Sasan Damdarpur Road and Puri Satpada road on Left Hand Side of NH-316 road from Puri to Satpada.	Puri	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
501	Charichhak to Orapata on SH 60	Puri	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
502	Biju Childrens Park to Kulasekharapatana on old NH 203	Puri	Regular	100	OPEN	DC	30	20	600	25	0	Draw of Lots	15	5
503	Nimapada town (Not on SH)	Puri	Regular	100	OBC CC 1	DC	30	20	600	25	0	Draw of Lots	15	4
504	Santapada -Banarpal to Ballahar chak on NH 149 on RHS	Angul	Regular	100	SC CC 1	CFS	30	20	600	0	0	Draw of Lots	0	3
505	Pandara Chhak to Sai Temple on NH-316 (RHS)	Khordha	Regular	150	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
506	Thelconali on NH55 on LHS mile stone no. 96 to Milestone no. 98 from Angul to Sambalpur	Angul	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
507	Within 1 km on either side from the junction of "Puri-Satpada Road" and "Road to Panaspada village from Panaspada bazar" on LHS of Puri Satpada NH-316 road	Puri	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
508	Within 5 KMs from Fire Station, Daringbadi towards Baliguda on NH-59	Kandhamal	Regular	100	ST	CFS	35	45	1575	0	0	Draw of Lots	15	5
509	Between Jharpada jail to Shani mandir on Badagada Canal road	Khordha	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
510	Sai Temple Chhak to Lingipur Chhak on NH 316 (LHS)	Khordha	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
511	Rasulgarh Chhak to Hanspal chhhak (LHS)	Puri	Regular	150	OPEN	DC	30	20	600	25	0	Draw of Lots	15	5
		•							•				•	

					FADVENTIGED									
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
512	Matia Pada Square to Puri Bus Stand out gate on Sarbodaya Road	Puri	Regular	100	OPEN	DC	30	20	600	25	0	Draw of Lots	15	5
513	Sai Temple Chhak to Lingipur Chhak on NH 316 (RHS)	Khordha	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
514	Satyabhamapur	Khordha	Regular	150	OBC	DC	30	20	600	25	60	Draw of Lots	15	4
515	Ravi Talkies to Bhaskareswara Temple on Tankapani Road	Khordha	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
516	Pandara within municipal limit	Khordha	Regular	150	OPEN CC 1	DC	30	20	600	25	60	Draw of Lots	15	5
517	Hitech Chak to Pandara Square (Not on NH)	Khordha	Regular	150	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
518	Between Jharpada Jail & Rasulgarh Square on Jharapada Canal Road	Khordha	Regular	150	OBC	DC	30	20	600	25	60	Draw of Lots	15	4
519	Uttara Chhak to Gudiapokhari on NH316 (LHS)	Puri	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
520	Pandra Chhak to Sai Temple on NH-316 (LHS)	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
521	Kakatapur Bazar to Balara	Puri	Regular	100	OBC	DC	30	20	600	25	0	Draw of Lots	15	4
522	Ravi Talkies Square to Lingipur Chak	Khordha	Regular	150	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
523	Pipili Toll Gate to Dandamukundapur on NH 316 (LHS)	Puri	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
524	Pipili Toll Gate to Dandamukundapur on NH 316 (RHS)	Puri	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
525	Matia Pada square to Balighat Chowk	Puri	Regular	100	OBC	DC	30	20	600	25	0	Draw of Lots	15	4
526	Nua Hata to Maa Dwarabasini Temple on Jagatsinghpur Road	Puri	Regular	100	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
527	Pahal Square to Hanspal on NH-16 (LHS)	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
528	Within Mancheswar Industrial Estate Area	Khordha	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
529	Within 2 km of Astarang Bazar on Nuagarh - Kakatpur road	Puri	Regular	100	OBC	DC	30	20	600	25	0	Draw of Lots	15	4
530	Between Balianta & Benupur (Within Municipal Limits)	Khordha	Regular	100	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
531	Sai Temple to Bainchua Road on Tankapani Road	Khordha	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
532	Khelar to Ratilo on SH-13	Puri	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
533	Between Mausima Chowk & Gosagareswar Chowk on Ratha Road	Khordha	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
534	Pahal Square to Hanspal on NH-16 (RHS)	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
535	Puri Town (within municipality limit)	Puri	Regular	100	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
536	Rasulgarh Chhak to Hanspal chhhak (RHS)	Puri	Regular	150	OBC	DC	30	20	600	25	75	Draw of Lots	15	4
537	KM Stone from 46 to 48 on Left Hand Side of NH-316 from Bhubaneswar to Puri	Puri	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
538	Within 2kms of Atharnala	Puri	Regular	100	OPEN	DC	30	20	600	25	0	Draw of Lots	15	5
												+		

Desire Company Desire D						F ADVENTIGED									
State mode for Multi-Microbian or Sil Corrections Observed O		Name Of Location		(Regular/R	monthly Sales Potential (MS+HSD) in	(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC		Frontage of	Depth of Site	of site (in Sq.	capital requirement for operation of RO	required for development of infrastructure at	selection (Draw of	Min bid amount (Rs in	Deposit (Rs
Series to Kinggard Market Medical Medi	1	2	3	4	5	6	7		8		9a	9b	10	11	12
Set December Dec	539	Soro to Kupari	Balasore	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
Infinish towards Malindharpurous 91-64, OHERKARAM. Regular 100 OPEN DC 35 35 1225 25 60 Draw of Lots 15 5	540	,not on NH	Mayurbhanj	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
State Stowards Analysis on State Stowards Analysis on State Stowards Analysis on State Stowards Analysis on State Stowards Analysis of State State Stowards Analysis of State State	541	Hindol towards Mahidharpur on SH-64, within HINDOL NAC limit	DHENKANAL	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
Set Connecting Store to Kupari Ballstore Megiglar 100 ORL D.C. 35 35 1225 D.C. O.D. Daw of Lots D.C. S.	542	SH-35 towards Aradi on SH-35	Bhadrak	Regular	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
Setting Sett		Connecting Soro to Kupari		Regular									Draw of Lots		
Within 6 Km from Intersection Of NiH-16	544	Asurali to Dhusri on SH-35	Bhadrak	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
Service Road & SH-35 on SH-35 toward Shadrak Regular 100 OPEN OPEN	545	Between Naugoruda to Chandbali on SH-9	Bhadrak	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
Same	546	Service Road & SH -35 on SH-35 toward	Bhadrak	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
Stone No. 308 to Km Stone No. 319 on RHS(towards Bhubaneswar) of NH-16 Stone No. 308 to Km Stone No. 319 on RHS(towards Bhubaneswar) of NH-16 Stone No. 308 to Km Stone No. 319 to Km Stone No. 327 to Km Stone No. 237 to Km Stone No. 247 on RHS of NH-16 towards Balasore Regular 150 STCC1 CFS 35 45 1575 0 0 0 Draw of Lots 15 5 Stone No. 237 to Km Stone No. 247 on RHS of NH-16 towards Balasore Regular 150 OPEN CC2 DC 35 45 1575 0 0 0 Draw of Lots 0 3 Stone No. 247 on RHS of NH-16 towards Bhubaneswar temple to Kanhia Stock office Number of	547		Balasore	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
Sof	548	Stone No. 308 to Km Stone No. 319 on	BhadraK	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
Between Km Stone No. 237 to Km Stone No. 237 to Km Stone No. 247 on LHS Of NH-16 towards Balasore Regular 150 OBC DC 35 45 1575 25 75 Draw of Lots 15 4	549		Balasore	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
No. 247 on LHS Of NH-16 towards Balasore Regular 150 OBC DC 35 45 1575 25 75 Draw of Lots 15 4	550	Kalakad to Gohira on Sh-19	Balasore	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
S52 Mithin 2 km of Baincha Basudevpur - S52 Dhamra Road Bhadrak Regular 100 OPEN DC 35 35 1225 25 60 Draw of Lots 15 5 S S S S S S S S		No. 247 on LHS Of NH-16 towards	Balasore	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
Between Km Stone No. 237 to Km Stone No. 237 to Km Stone No. 247 on RHS Of NH-16 towards Balasore Regular 150 ST CC 1 CFS 35 45 1575 0 0 0 Draw of Lots 0 3		within 2 km of Baincha Basudevpur -	Bhadrak	Regular	100	ODEN	DC	35	35	1225	25	60	Draw of Lots	15	5
S54 Remuna to Naharpatna on NH18 Balasore Regular 150 OPEN CC 2 DC 35 45 1575 25 75 Draw of Lots 15 5		Between Km Stone No. 237 to Km Stone No. 247 on RHS Of NH-16 towards	Balasore	Regular	150		CFS	35	45	1575	0	0	Draw of Lots	0	3
Takua paschimeswar temple to Kanhia Block office Angul Regular 150 OBC CC 1 DC 35 45 1575 25 75 Draw of Lots 15 4			Balasore	Regular	150	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
Within 10 Kms from Kaithkhola towards Bhadrak Regular 100 OPEN DC 35 35 1225 25 60 Draw of Lots 15 5		Takua paschimeswar temple to Kanhia													
From Sanahinsara Chak towards Jarpada Chak on NH-55 within 3 Kms Angul Regular 150 ST CFS 35 45 1575 0 0 Draw of Lots 0 3		Within 10 Kms from Kaithkhola towards	Bhadrak	Regular	100		DC	35	35	1225	25	60	Draw of Lots	15	5
Sor to Markona on NH-16 on LHS towards Bhubaneswar Regular 150 OBC DC 35 45 1575 25 75 Draw of Lots 15 4 DC 35 45 1575 25 75 Draw of Lots 15 5		From Sanahinsara Chak towards Jarpada	Angul	Regular	150		CFS	35	45	1575	0	0	Draw of Lots	0	3
559 towards Bhubaneswar Balasore Regular 150 OPEN DC 35 45 1575 25 75 Draw of Lots 15 5	558		Balasore	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
560 Within 3 km of Chitrada on SH-61 Mayurbhani Regular 100 OPEN DC 35 35 1225 25 60 Draw of Lots 15 5		towards Bhubaneswar		_											
	560	Within 3 km of Chitrada on SH-61	Mayurbhanj	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in KIs	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
561	Rairangpur to Hatabadra on NH 220	Mayurbhanj	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
562	Kaniha Police Station to Jharabereni on NH-53	Angul	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
563	from Khantapada to Bahanaga Between Km Stone No. 258 to Km Stone No. 263 on LHS (towards Bhubaneswar)Of NH-16)	Balasore	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
564	Within 4 kms. From Military Chhak towards Jakhapura on Biju Pattnaik Marg	Jajpur	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
565	Palbani Chowk to Dantiamuha Chowk on NH-18 on RHS while going towards Balasore	Mayurbhanj	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
566	Kaniha police station to Godibandh Hospital on NH-53	Angul	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
567	from Bhadrak to Dhamnagar Between Km Stone No. 308 to Km Stone No. 319 on LHS (towards Bhubaneswar)Of NH-16	Bhadrak	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
568	Talcher town-Within Municipal Limit	Angul	Regular	100	OPEN CC 1	DC	25	25	500	25	0	Draw of Lots	15	5
569	Within 5 KM Kosala to chendipada on SH 63	Angul	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
570	Podapada Chak to Gudiakateni Chak on NH55	Dhenkanal	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
571	Palbani Chowk to Dantiamuha Chowk on NH-18 on LHS while going towards Balasore	Mayurbhanj	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
572	Rairangpur to Bijatala Chhack on SH-50	Mayurbhanj	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
573	Hemsarpada to Jarasingha within 2 KM on SH-63	Angul	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
574	Within 5 km from Rairangpur towards Bahalda on NH220	Mayurbhanj	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
575	Within 8 Kms from Bhandari Pokhari Fire Station towards Bhubaneswar on RHSOf NH 16	Bhadrak	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
576	Balasore Bus Stand to Remuna Golai	Balasore	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
577	Within 2 Km from Bhadrak Station Square on NH16 RHS(on RHS going towards Bhubaneswar)	Bhadrak	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
578	Jaleswar to Rajghat on NH 60 (on RHS) while going towards Balasore	Balasore	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
579	Santrapur Chak to Moratira Chak on NH55 either side from Angul to Sambalpur Mile stone 143 to Milestone 145	Angul	Regular	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3

Location Sl. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
580	Within 3 Km from Bonth Chak on Nh16 (on RHS going towards Bhubaneswar)	Bhadrak	Regular	150	ОВС РН	DC	35	45	1575	25	75	Draw of Lots	15	4
581	KM Stone 268 to KM Stone 270 on NH16 (On LHS from Bhadrak to Balasore)	Balasore	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
582	within 10 km of Harabhanga village towards Charichak on SH 23	Boudh	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
583	Between KM stone 8 & 9 on Anantapur- Soro Road on LHS from Anantapur towards Soro.	Balasore	Regular	100	OBC	DC	25	25	500	25	0	Draw of Lots	15	4
584	Sarang between IGIT engineering college and BPCL RO on RHS	Dhenkanal	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
585	Police Line Chak to Bampada, Within Balasore Municipality	Balasore	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
586	Balasore town (Iti Chak to Station Chak) on Either Side	Balasore	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
587	Talabeda to Talcher college	Angul	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
588	Nilagiri Town	Balasore	Regular	100	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
589	Within 10 KM of Thakurgarh to Boinda on SH-62	Angul	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
590	Bhuban Police Station to Anantapur on NH53(towards Sukinda)	Dhenkanal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
591	On OT Road from Tamulia flyover to ITI Chhak both side	Balasore	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
592	Januganj Golai to Remuna	Balasore	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
593	Rajghat Sqaure to Puruna Bazar Chak Within Bhadrak Muncipality	Bhadrak	Regular	100	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
594	Bhadrak Court to Puruna Bazar Chak Within Bhadrak Muncipality	Bhadrak	Regular	100	OPEN CC 1	DC	25	25	500	25	0	Draw of Lots	15	5
595	Khirochara Gopinath Mandir Road	Balasore	Regular	100	OBC	DC	25	25	500	25	0	Draw of Lots	15	4
596	Mouza Kusumpur under Vyasnagar Municipality on proposed bypass road	Jajpur	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
597	Asanjoda to Kalabadia chhak on NH 18 (on LHS while going towards Bombay Chhak)	Mayurbhanj	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
598	Dargadahi Golei to Jagadhatri Talkies in Baripada town	Mayurbhanj	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
599	Bada Dalima to Tiring on NH 220	Mayurbhanj	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
600	Bombay Chak to Bangiriposi on NH-6 (on LHS while going towards Bisoi)	Mayurbhanj	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
601	Bombay Chak to Bangiriposi on NH-6 (on RHS while going towards Bisoi)	Mayurbhanj	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
602	Bangiriposi to Bisoi on NH-49 (old NH 6)	Mayurbhanj	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
603	Basta to Rajghat on NH 60 (on LHS while going towards Kharagpur)	Balasore	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
604	Chandaneswar to Digha on SH-57	Balasore	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
605	Bisoi to Manada on NH 49 (old NH 6)	Mayurbhanj	Regular	150	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
606	Basta to Rajghat on NH 60 (on RHS while going towards Kharagpur)	Balasore	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
607	Betnoti to Dantiamuha Chhak on NH-18	Mayurbhanj	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
608	Jaleswar town (Within Municipality limit)	Balasore	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
609	Bombay Chak to Jamsola Gate (towards Jamsola) on LHS on NH-49 (old Nh-6)	Mayurbhanj	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
610	Haldipada to Basta on NH-60 (on LHS while going towards Kharagpur)	Balasore	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
611	Kalabadia Chak to Bombay Chak on NH-18	Mayurbhanj	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
612	Within 3 km of Tato on NH 220 (Tangabila Karanjia Road)	Mayurbhanj	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
613	Within 1 km from Kalma on NH-18 on either side	Mayurbhanj	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
614	Jaleswar to Rajghat on NH 60 (on LHS while going towards Balasore)	Balasore	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
615	Jaleswar to Lakshmanath Gate on NH 60 (on RHS while going towards Kharagpur)	Balasore	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
616	Murgabadi Golei to Deuli on SH-19 (Baripada - Gopivallabhpur Road)	Mayurbhanj	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
617	Udala to Kaptipada on SH-19	Mayurbhanj	Regular	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
618	Jaleswar to Sugo on SH 57	Balasore	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
619	Jashipur to Manada on NH 49 (old NH 6)	Mayurbhanj	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
620	Phuladi to Haldipada on Nh 60 (on RHS while going towards Kharagpur)	Balasore	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
621	Jashipur to Tangabila on NH-49 (old NH 6)	Mayurbhanj	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
622	Poda Astia to Karanjia on SH-19 (Baripada - Udala Road)	Mayurbhanj	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
623	Tangabila to Singada on NH-49 (NH 6)	Mayurbhanj	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
624	Karanjia to Saharpada (within Karanjia NAC)	Mayurbhanj	Regular	100	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
625	Jaganath Temple to Ambika Temple in Baripada town (on LHS)	Mayurbhanj	Regular	100	OBC	DC	25	25	500	25	0	Draw of Lots	15	4
626	Within 2 kms of Narankhunta on SH 19 (Baripada - Udala Road)	Mayurbhanj	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8	ı	9a	9b	10	11	12
627	Withn 7 kms from Palbani Golai towards Chitrada on SH-61 Murgabadi Golei to Asanajoda on NH 18	Mayurbhanj	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
628	(on LHS while going towards Bombay Chak)	Mayurbhanj	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
629	Murgabadi Golei to Asanajoda on NH 18 (on RHS while going towards Bombay Chak)	Mayurbhanj	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
630	Jyotinagar (within udala NAC)	Mayurbhanj	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
631	Chatua To Iribina on NH 55	Jagatsingpur	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
632	Kujang To Rahama on SH 12 From Marsaghai To Gopa Chaka ON RHS of NH 53	Jagatsingpur Kendrapada	Regular Regular	100 150	OBC ST	DC CFS	35 35	35 45	1225 1575	25 0	60 0	Draw of Lots Draw of Lots	15 0	3
634	Pattamundai-Within Municipal Limits	Kendrapada	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
635	Jamadhar Chaka To jantilo Chaka On SH 9A	Kendrapada	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
636	Between Marasagai and Gopa Chaka on LHS of NH 53	Kendrapada	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
637	In between Post office Madhyasasan to Hajipur on NH 55	Jagatsingpur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
638	Within 2 kms from Kakatia chaka towards Salepur on SH 9A Within 3 kms from Singiri Market Towards	Kendrapada	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
639	Aul on SH 9A Within 2 km of Dinabandhu Law College,	Kendrapada	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
640	Pandiri (Not on SH)	Kendrapada	Regular	100	OBC	DC	25	25	500	25	0	Draw of Lots	15	4
641	Kendrapada Town-Within Municipal Limits Within 3 kms from Beltal Market Towards		Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
642 643	Aul on SH 9A Japa To Iribina on NH 55	Kendrapada Jagatsingpur	Regular Regular	100 150	ST OBC	CFS DC	35 35	35 45	1225 1575	0 25	0 75	Draw of Lots Draw of Lots	0 15	3
644	Gararpur Square to Mulabasanta on SH 9A		Regular	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
645	Between kantapada Bazar and Chandbali bazar on SH 9A	Kendrapada	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
646	Hajipur To Balia on NH 55	Jagatsingpur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
647	Pitambarpur Sasan on SH-17 between Berhampur and Dighapahandi	Ganjam	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
648	Barundiha To ChandanPokhari Chaka On SH 9A	Kendrapada	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
649	Within 5 Kms of Tirtol on SH 12	Jagatsingpur	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
650	Duhuria To laxminarayanpur on RHS of NH 53	Kendrapada	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
651	Duhuria To laxminarayanpur on LHS of NH 53	Kendrapada	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
652	From Jaipur Chaka To Tarapur on SH 12	Jagatsingpur	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
653	Talcher Bus stand to Godibandh on NH 53 either side	Angul	Regular	150	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
654	Katada Chak to Boinda Chak on NH55 either side	Angul	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
655	Between Gopa Chaka And Duhuria on RHS of NH 53	Kendrapada	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
656	From Laxminarayanpur To Panchupandav Chaka on LHS of NH 53	Kendrapada	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
657	From Laxminarayanpur To Panchupandav Chaka on RHS of NH 53	Kendrapada	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
658	Between Gopa Chaka And Duhuria on LHS of NH 53	Kendrapada	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
659	Paradeep Town-Within Municipal limits	Jagatsingpur	Regular	100	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
660	Bewteen Ishwarpur chaka/Balikuda block chaka to Saw Mill chaka on NH 55	Jagatsingpur	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
661	Jagatsingpur town-Within Municipal Limits	Jagatsingpur	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
662	Zero Point (Paradeep) To Paradeep refinery on Paradeep Refinery road	Jagatsingpur	Regular	100	OBC	DC	25	25	500	25	0	Draw of Lots	15	4
663	From Marshaghai to Athrabanki on LHS of NH 53	Kendrapada	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
664	Balibhaunri Chaka to Arilo Chaka on NH 55	Jagatsingpur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
665	From Marshaghai to Athrabanki on RHS of NH 53	Kendrapada	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
666	From Millitary Chhak To Danagadi Railway Crossing (Manpur) on LHS of SH 20	Jajpur	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
667	From Millitary Chhak To Danagadi Railway Crossing (Manpur) on RHS of SH 20	Jajpur	Regular	100	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
668	From Chandikhole to Jaraka on LHS of NH 16	Jajpur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
669	From Chandikhole to Jaraka on RHS of NH 16	Jajpur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
670	From Balichandrapur chaka Towards Chandikhole on LHS of NH 53(From Milestone No 7 To Milestone no 8)	Cuttack	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
671	From Choroda Chaka To Military Chaka on LHS of SH 20	Jajpur	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

Fixed Fee / Min bid amount (Rs in Lakhs) 11 ots 15	Security Deposit (Rs in Lakhs)
ots 15	
ots 0	4
	3
ts 15	5
ots 15	5
ots 15	4
ots 15	5
ots 15	5
ots 15	5
ots 15	4
ots 0	3
ots 15	5
ots 15	5
ots 15	4
ots 15	5
	3
ts 15	5
ots 15	4
ots 15	5
ots 0	3
ots 15	4
ots 15	5
ots 15	5
ots 15	4
ots 0	3
0.0000000000000000000000000000000000000	.ots 15 .ots 15 .ots 15 .ots 15 .ots 15 .ots 15 .ots 0 .ots 15

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
•	Between Sukinda Chak and Mangalpur				U	DC	35		1575		75			5
696	Chaka on NH 53 Within 5 km from Panikoili towards	Jajpur	Regular	150	OPEN			45	1575	25		Draw of Lots	15	
697	Kuakhia on LHS of NH16	Jajpur	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
698	From Panikoili to Sathipur on RHS of NH16	Jajpur	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
699	Between Rambag Chaka and Katikata Chaka on NH20	Jajpur	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
700	Within 5 km from Panikoili towards Kuakhia on RHS of NH16	Jajpur	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
701	From Barada Chhak to Gohiritikira on RHS of NH 53	Jajpur	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
702	Within 3 kms on either side of State Bank of India, Kashinagar on SH-4	Gajapati	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
703	Bhejiput to Narayani Temple Chowk on NH-16 on LHS towards Bhubaneswar	Ganjam	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
704	Within 3 km of Adasinghi Junction on NH- 326A (Paralakhemundi to Mohana Road)	Gajapati	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
705	Gurapalli Toll Plaza to Langaleswar of NH- 16 on LHS toward Bhubaneswar	Ganjam	Regular	150	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
706	Within 3 KMs from Tamana Chhak towards Chikiti on SH-22	Ganjam	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
707	Forest Gate to Brahmana Sitapur on SH-4	Gajapati	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
708	G Udayagiri to Pukulingia on SH-7A Within 5 km from Madanmohanpur	Kandhamal	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
709	towards Chikiti on SH-29	Ganjam	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
710	Belupada Toll Plaza to Girisola of NH-16 on LHS towards Bhubaneswar	Ganjam	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
711	Between New Burupada to Pitala Chhak on NH 59	Ganjam	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
712	Within 1 km of Patikota on NH326A on either side	Gajapati	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
713	Lanjipadar to Narayanpur on SH 34	Gajapati	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
714	With 3 KMs from Belupada Toll Plaza of NH-16 (on RHS towards Berhampur from Vijayawada)	Ganjam	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
715	Bhaliagarh to Girisola of NH-16 on LHS	Ganjam	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
716	Between Pakidi to Narayanpur on NH-59	Ganjam	Regular	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
717	GOVINDPUR TO PATHARAPUNJI ON SH-36	_	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
718	Putu to Kusapada on NH 59	Ganjam	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
719	Gopulpur Junction to Lanjipalli of NH-16 on LHS towards Vijayawada	Ganjam	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
720	Chamakhandi to Chatrapur of NH-16 on LHS towards Bhubaneswar	Ganjam	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
721	From Lochapada Main Road Chowk to Jhadankuli Road Chowk	Ganjam	Regular	100	OBC	DC	25	25	500	25	0	Draw of Lots	15	4
722	Baghajhori to Dangapadara on SH-17	Ganjam	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
723	Chatrapur to Rushikya River Bridge of NH- 16 on LHS	Ganjam	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
724	Baidyanathpur Police Station (Kamapali chowk) to Engineering School in Berhampur Town	Ganjam	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
725	Within 2 KMs on either side from Kotagad Post Office on SH-5	Kandhamal	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
726	Chakipada to Balijodi on SH-29	Ganjam	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
727	From 1st Gate (Jn. of SH-17 & NH-59) to Ratnapur of NH-59	Ganjam	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
728	Khadabhaga to Kalasandhapur (Aska) on NH-59	Ganjam	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
729	Within 4 KMs from Dhanasara towards Paralakhemundi on SH-4	Gajapati	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
730	Patapur to Mendhapalli on SH-31	Ganjam	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
731	Luhagudi to Madhuramba on NH-326	Gajapati	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
732	Within 2 KMs from Kotibaradi towards Bhanjanagar via Kulada on SH-37	Ganjam	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
733	Within 10 KM from Girang Chk to Balaramprasad	Angul	Regular	100	OPEN	CFS	30	20	600	0	0	Draw of Lots	0	3
734	Within 5 KMs from Tumudibandha Chowk towards Baliguda on NH-59	Kandhamal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
735	CHANDRIGIRI TO SAGADA ON NH-326A	Gajapati	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
736	From Ganesh Nagar Chowk to Nunighara on SH-22	Ganjam	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
737	Phulbani town – Within Municipal Limits	Kandhamal	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
738	Aska town – Within NAC Limits	Ganjam	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
739	LANJIPADAR TO NARAYANPUR ON NH- 326A	Gajapati	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
740	Ralabha to Sikharapur on SH-36	Ganjam	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
741	Mango Market to Goshani Nuagaon Chowk on Andhapasara Road	Ganjam	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
742	On Aska road within Berhampur Municipal Area	Ganjam	Regular	100	OPEN CC 1	DC	25	25	500	25	0	Draw of Lots	15	5
743	Bhutasarasingi to Bananai on SH-31	Ganjam	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
744	Within 3 KMs from R Udayagiri Sub-Jail towards Paralakhemundi on NH-326A	Gajapati	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
745	Bijipur Chowk to Berhampore Railway Station	Ganjam	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
746	Within 3 KMs on both sides from Tikabali Police Station on NH-157	Kandhamal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
747	Within 3 KMs from Adaba Sub-Post Office, Padagan towards Mohana on NH - 326	Gajapati	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
748	Rayagada to Hatibadi on NH-326A	Gajapati	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
749	Within 2 KMs on either side from Andhra Bank, Belaguntha on Bhanjanagar - Balipadar Road	Ganjam	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
750	Karsing to Badapada on SH-33	Ganjam	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
751	Upalada to Macchamara on NH326A	Gajapati	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
752	Badagada to Patapur on SH-36	Ganjam	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
753	Within 3 KM from Damerikia towards Nuagaon on SH-7A	Kandhamal	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
754	Between Katha Mentu Chhak to Mango Market on Bypass Road, Berhampur	Ganjam	Regular	100	OPEN CC 2	DC	25	25	500	25	0	Draw of Lots	15	5
755	Jiranga to Saagan on SH-22	Gajapati	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
756	Within 5 KMs from Suruda Toll Plaza towards Aska on NH 59	Ganjam	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
757	Chamakhandi to Pathara of NH-16 on LHS towards Berhampur	Ganjam	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
758	On NH-16, Patrapur Block, on RHS from Bhubaneswar towards Visakhapatnam	Ganjam	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
759	Humma to Lunguri on SH-31	Ganjam	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
760	From Baunsalundi Chowk to Lalsingi on NH 157 Bypass Road	Ganjam	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
761	Keshpur to Rambha of NH-16 on LHS towards Berhampur	Ganjam	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
762	Humma to Rushkulya bridge of NH-16 on LHS	Ganjam	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
763	From Kanteikoli to NH-326 & NH-326A Junction, Mohana on NH-326	Gajapati	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
764	Kalinga to Balumaha on NH-157	Kandhamal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
765	Boudh to Bamunda on NH 57 Subalaya to Humma of NH-16 on LHS	Boudh Ganjam	Regular Regular	150 150	OBC ST	CFS CFS	35 35	45 45	1575 1575	0	0	Draw of Lots Draw of Lots	0	3
766	towards Girisola Haladiapadar Fly Over to Lanjipalli of NH-	Ganjam	Regular	150		DC	35	45	1575	25	75	Draw of Lots	15	5
767 768	16 on LHS Khajuriapaitari to Mundamarai on NH-59	Ganjam	Regular	150	OPEN OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in KIs	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
769	Kukudakhandi to Ankush Pur on NH-59	Ganjam	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
770	Darpungia to Durgaprasad on NH-157	Ganjam	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
771	Lanjipalli to Gopulpur Junction of NH-16 on LHS towards Bhubaneswar	Ganjam	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
772	Rushikulya River Bridge to Puintola Chhak on RHS of NH-16 towards Bhubaneswar	Ganjam	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
773	Courtpeta Chhak to Gate Bazar , Berhampur	Ganjam	Regular	100	OBC	DC	25	25	500	25	0	Draw of Lots	15	4
774	Gurapalli Toll Plaza to Nirmalajhara on RHS of NH-16 towards Berhampur	Ganjam	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
775	Paralakhemundi town-Within Municipal Limit	Gajapati	Regular	100	SC	CFS	25	25	500	0	0	Draw of Lots	0	3
776	Within 2 Km on Either Side from Berhampur Sadar Police Station on Berhampur-Aska Road	Ganjam	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
777	Haridakhandi within Berhampur Municipality	Ganjam	Regular	100	OBC	DC	25	25	500	25	0	Draw of Lots	15	4
778	Jagannathprasad on SH-21	Ganjam	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
779 780	Balisira to Gunthapada on NH 157 BIJIPUR CHHAK TO GOSANI NUAGAON POLICE STATION, BERHAMPUR	Ganjam Ganjam	Regular Regular	150	SC PH OBC PH	DC DC	35 25	45 25	1575 500	0 25	0	Draw of Lots Draw of Lots	15	4
781	Mahendragada to Munisingi on NH-326A	Gajapati	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
782	Bhanjanagar – Within NAC Limits	Ganjam	Regular	100	OPEN	DC	25	25	500	25	0	Draw of Lots	15	5
783	Within 2 KMs from Kanamana towards Gopalpur on Chatrapur - Gopalpur Road	Ganjam	Regular	100	OBC	DC	25	25	500	25	0	Draw of Lots	15	4
784	Berhampur town within Municipal Limits	Ganjam	Regular	100	ST	CFS	25	25	500	0	0	Draw of Lots	0	3
785	Champapur on NH-16	Jajpur	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
786	Athagarh town – Within NAC Limits Within 3 Kms on either side of Jagatpur on	CUTTACK	Regular Regular	100 150	OPEN OBC	DC DC	30 35	20 45	600 1575	25 25	0 75	Draw of Lots Draw of Lots	15 15	5 4
787	NH 16 Within 4 kms of Badamba towards	CUTTACK	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
788	Nuapatna on SH 65 From Baladevjew Pitha,Umar on LHS	CUTTACK	Regular	100		DC	30	20	600	25	0	Draw of Lots	15	5
789	toward Nahanga within 1 Km Barang Thana to Trisulia Chhak on LHS	CUTTACK	Regular	100	OPEN	DC	30	20	600	25	0	Draw of Lots	15	5
790	Within 3 Km of Barapada Luna Bridge	CUTTACK	Regular	100	OPEN	DC	30	20	600	25	0	Draw of Lots	15	5
791 792	towards Nemalo Within 3 Km of Jenapada towards Trisulia (Netaji Subhaschandra Bose Setu)	CUTTACK	Regular	100	OPEN OBC	DC	30	20	600	25	0	Draw of Lots	15	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
793	Within 3 Km of Balijhari towards Champeswar	CUTTACK	Regular	100	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
794	Within 4 Kms from OMP Chhak towards Paradeep on SH12	CUTTACK	Regular	100	OPEN CC 1	DC	35	35	1225	25	0	Draw of Lots	15	5
795	Within 2 Km of Kaliaboda, Nai Bandhasai towards Apania, Nuabazar	CUTTACK	Regular	150	OBC	DC	30	20	600	25	60	Draw of Lots	15	4
796	Between KM stone 7 & 9 from Chandikhol to Paradeep on RHS, Mouza- Kaudukola	CUTTACK	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
797	Baula to Dhabaleswar Bridge	CUTTACK	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
798	Within 2 km of Bhatapada to Nandola on SH 9A	CUTTACK	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
799	Within 4 km of Karadapalli towards Tigiria	CUTTACK	Regular	100	OBC	DC	30	20	600	25	0	Draw of Lots	15	4
800	Within 4 km of Choudwar-Athagarh Road Via Dhabaleswar	CUTTACK	Regular	100	OPEN	DC	30	20	600	25	0	Draw of Lots	15	5
801	Cuttack City, Within Muncipality Limit	CUTTACK	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
802	Upto 5 Kms from Kandarpur Chhak towards Paradeep on SH12	CUTTACK	Regular	100	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
803	Within 2 km of Dargah Bazar	CUTTACK	Regular	150	OBC CC 1	DC	30	20	600	25	60	Draw of Lots	15	4
804	From Tangi toll to Manguli Chhak towards Cuttack on LHS on NH 16	CUTTACK	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
805	Within 4 km of CDA Sector 9 market	CUTTACK	Regular	150	OPEN PH	DC	30	20	600	25	60	Draw of Lots	15	5
806	Between Press Chhak & Sati Choura Chhak on Ring Road	CUTTACK	Regular	150	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
807	Within 4 km of Karilo towards Gadamadhupur on SH 65	CUTTACK	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
808	On LHS within 3 km of Golai Chhak, Jagatpur towards OMP Chhak on NH16 (Old NH5)	CUTTACK	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
809	On LHS within 4 kms of Khuntakata towards Baramba on SH65	CUTTACK	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
810	Within 4 kms of Brahmana Jharilo towards Kurang on SH-60	CUTTACK	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
811	Within 4 kms of Koudukola towards Jagatpur on NH-16	CUTTACK	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
812	Within 4 kms of Mahanandi Vihar market	CUTTACK	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
813	Withino 8 kms of Manguli towards Tangi on NH 16	CUTTACK	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
814	Manguli Chhak to Chowdwar (Gandhi Chhak) on NH55	CUTTACK	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
815	Choudwar town-Within Municipal Limit	CUTTACK	Regular	100	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
816	Nuapatna-Dhabaleswar Road	CUTTACK	Regular	100	OPEN	DC	30	20	600	25	45	Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
817	Within 2 km of Paga towards Balichandrapur	CUTTACK	Regular	150	OPEN CC 1	DC	30	20	600	25	60	Draw of Lots	15	5
818	Within 3 kms from Nuapatna towards Panchgaon on SH65	CUTTACK	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
819	Within 3 kms of College Square	CUTTACK	Regular	150	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
820	On LHS within 4 kms of Kuranga Bazar towards Bagalpur Bazar on SH60	CUTTACK	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
821	OMP Square to Golei Chhak, Jagatpur on NH 16 on LHS	CUTTACK	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
822	Within 2 km from Panchgaon block office	CUTTACK	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
823	Phulnakhara Chhak to Pratapnagari Chhak on NH16 on LHS	CUTTACK	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
824	Within 6 kms from Gatiroutpatna towards Biribati	CUTTACK	Regular	100	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
825	Within 2 km of Sati Choura Chhak towards Chahata Ghat	CUTTACK	Regular	150	OBC	DC	30	20	600	25	60	Draw of Lots	15	4
826	Phulnakhara Chhak to Pratapnagari Chhak on NH16 on RHS	CUTTACK	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
827	At Ghasiput, Between Kusupangi to Jatamundia Chhak on MDR 77, Block Banki	CUTTACK	Regular	100	OPEN	DC	30	20	600	25	45	Draw of Lots	15	5
828	within 6 kms from Govindpur towards Banki	CUTTACK	Regular	100	ST	CFS	20	20		0	0	Draw of Lots	0	3
829	Within 6 kms of Shankarpur towards Paschimaswar Temple	CUTTACK	Regular	100	ОВС	DC	30	20	600	25	45	Draw of Lots	15	4
830	Within 5 Kms from Trisulia Chhak towards Banki on MDR77	CUTTACK	Regular	100	OPEN	DC	30	20	600	25	45	Draw of Lots	15	5
831	Within 2 km on either side of Niali Post Office	CUTTACK	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
832	Within 4 Kms from Damodarpur towards Ichhapur	CUTTACK	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
833	Within 3 kms from Chari Chhak towards Niali	CUTTACK	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
834	Upto 3 Kms from Gandarpur chhak (Not on NH)	CUTTACK	Regular	100	OPEN	DC	30	20	600	25	45	Draw of Lots	15	5
835	Aluajharan (From Durga Kishan Seva Kendra to 8 km towards Kamakshyanagar)	Dhenkanal	Regular	100	OPEN	DC	25	25	500	25	45	Draw of Lots	15	5
836	Bhejiya on NH 149 (on LHS from pitri to Khamar)	Dhenkanal	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
837	Gandhigram on SH-16 from Boudh to Phubani Via Puruna Cuttack.	Boudh	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
838	Angul Bypass on NH-55	Angul	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
839	Angul within Muncipality limit	Angul	Regular	100	OPEN	DC	25	25	500	25	45	Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in KIs	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
840	Within 10 KM of Charichak, Boudh on NH	Boudh	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
841	Badajhara Satsang Kendra to Mukatapasi NH-53 .	Dhenkanal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
842	Barkote- Odisha co-operative bank to kalla jagannath temple	Angul	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
843	Goila Chak to Tentuliapada Chak on NH55 on LHS (from Angul to Dhenkanal)	Dhenkanal	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
844	Boudhabeda village to Rengali on NH-149	Angul	Regular	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
845	Kamakhyanagar Hospital to Muktapasi NH53	Dhenkanal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
846	From Chendipada towards Budhapal on SH-63 within 5 Kms	Angul	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
847	Gopigadia Chak to Kamakhyanagar on NH- 53	Dhenkanal	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
848	Bahira on NH 57 -LHS(Singhari to Ainlapali)	Boudh	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
849	Balhar Chhak to Saranga Chak on NH 149	Angul	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
850	Gandhigram on NH 57 from Boudh to Puruna Cuttack on LHS	Boudh	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
851	Katada on NH55 within 5 KM on left side towards Cuttack to Sambalpur.	Angul	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
852	Nakchi chak to Bamur chak on NH55	Angul	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
853	Puruna Cuttack to Charichak on NH57 either side	Boudh	Regular	150	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
854	Handpa chak to Nagchi chak on NH55 either side	Angul	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
855	From Ballahar Chak to Bramhani Bridge on NH 149 either side	Angul	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
856	Bhuban within NAC limit	Angul	Regular	100	OPEN	DC	25	25	500	25	45	Draw of Lots	15	5
857	Biranarsinghpur on NH 249	Boudh	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
858 859	Khemla - Khamar college to Balipasi Raikia to Budringia on SH-7A	Angul Kandhamal	Regular Regular	150 100	OBC ST	DC CFS	35 35	45 35	1575 1225	25 0	75 0	Draw of Lots Draw of Lots	15 15	4
860	Dhenkanal Bypass on NH55	Dhenkanal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots Draw of Lots	15	5
861	Dhenkanal Kamakhya Nagar Bypass to Hindol Raod on NH55	Dhenkanal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
862	Madhapur on SH 62 within Athamalik to Kiakata	Angul	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
863	Hindol within NAC limit	Dhenkanal	Regular	100	OPEN	DC	25	25	500	25	45	Draw of Lots	15	5
864	Kulad Chak to Meramunduli	Dhenkanal	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
865	Dhenkanal town-Within Municipal Limit	Dhenkanal	Regular	100	OPEN	DC	25	25	500	25	45	Draw of Lots	15	5
866	Meramunduli Chak to Kantabania Chak on NH55 either side	Dhenkanal	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
867	Boinda chak to Katada Chak on NH 55	Angul	Regular	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
868	Gundichapada Chak to Panchupati Chak on NH55 Either Side	Dhenkanal	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
869	Nimabahali Chak to Motanga Police Station on NH55 LHS	Dhenkanal	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
870	Athamallik within NAC limit	Angul	Regular	100	OPEN	DC	25	25	500	25	45	Draw of Lots	15	5
871	Gada Nursingha Prasad on NH 53 (Bhuban Police Station to Gada nursingha Prasad)	Dhenkanal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
872	Nuahata Chak to Sambalpur in new Bypass eitherside	Angul	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
873	Kantabania Chak to Budhapanka Chak on NH55 either side	Dhenkanal	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
874	Parjang to Gada Palasuni Mandir	Dhenkanal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
875	Godibandh Chak to Talcher on NH 53	Angul	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
876	Within 5 Km from Karadagadia Chhak to Rantlei On NH-55	Angul	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
877	Monomunda Bypass to Masinapada village on NH 57 either side	Boudh	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
878	Gudiakateni Chak to Nimabahali Chak on NH55 either side	Dhenkanal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
879	Kamakshyanagar within NAC limit	Dhenkanal	Regular	100	OPEN	DC	25	25	500	25	45	Draw of Lots	15	5
880	Rantlei Chak to Badakera Chak on NH55 either side	Angul	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
881	Baldia Bandh towards cuttack within 5 km radious	Dhenkanal	Regular	150	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
882	Kamakhyanagar Chak to Gundichapada Chak on NH55	Dhenkanal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
883	Sanahinsara on NH55 RHS from Angul to Sambalpur mile stone no. 139 milestone no 141	Angul	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
884	Chandrabahal on new Bypass from Sambalpur towards Cuttack on RHS	Angul	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
885	Kantamal Chak towards Podapadar Chak on SH 41	Boudh	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
886	Nisa on SH-63 (JSPL to Raijharan)	Angul	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
887	Khamar to Baramile on NH149	Angul	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
888	Pallahara new Bypass towards Barkot on NH149	Angul	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
889	Manamunda Bypass Road, Boudh to Kapasira	Boudh	Regular	100	OPEN	DC	25	25	500	25	45	Draw of Lots	15	5
890	Angul RTO office to Rantlei on NH55 either side	Angul	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
891	Pitri Chak to Parjang Chak on NH 53 either side	Dhenkanal	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
892	Mathakaragola Busstand to Muktapasi on NH 53 RHS from Kamakhyanagar to Bhuban	Dhenkanal	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
893	Janapank on NH57 on LHS from Gambharipada to Telibandh	Boudh	Regular	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
894	Ranjana Gunduri Chhak on Hanumanpur bus stop .	Angul	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
895	Panchupati Chak to Jhargadia Chak bypass on NH55 either side	Dhenkanal	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
896	Medical College Road, Talcher	Angul	Regular	100	OPEN	DC	25	25	500	25	45	Draw of Lots	15	5
897	Sangrampur village to Sahajpal(Sahajpal)	Boudh	Regular	100	OPEN	DC	25	25	500	25	45	Draw of Lots	15	5
898	Sanasauala Chak to Sasan Chak on NH 53 LHS from Kamakhyanagar to Bhuban	Dhenkanal	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
899	Parjang Chak to Badajhara on NH 53 either side	Dhenkanal	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
900	Niranjanpur on SH 63 near JSPL Gate	Angul	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
901	Rairakhol Chak to Boinda Chak Mile stone no 88 to Mile stone no. 89 left side	Angul	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
902	Panchamahala (Malisahi Mouza) on NH-55 RHS from Angul towards Sambalpur Mile stone no. 157 to Mile stone no.159	Angul	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
903	Kamakshyanagar within Sana Suala chak to Nuapani chak	Dhenkanal	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
904	Munda Bazar Chhak towards Balaramprasad within 3 KM	Angul	Regular	100	SC CC 1	CFS	25	25	500	0	0	Draw of Lots	0	3
905	Sahajpal on NH 57 LHS from Telibandh to Singhari	Boudh	Regular	150	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
906	Rajkiari Chhak to Kantilo on Gania Kantilo Road	Nayagarh	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
907	Between Jaidev Vihar Chhak and Kalinga Hospital Chhak (between Km stone 1 and KM Stone 3)	Khordha	Regular	150	OPEN	DC	30	20	600	25	60	Draw of Lots	15	5
908	Within 3 kms from Begunia PO towards Khurdha on NH-57	Khordha	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
909	Between Km. Stone 526 and 528 of NH-16 from Bhubaneswar to Berhampur on RHS	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
910	Between Chandichua Chhak and Taratua Via ITBP on NH -57	Khordha	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
911	Between Khordha town and Jagulipatana on NH 57 (Between Km Stone 291 to Km Stone 295)	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
912	Balugaon town on Balugaon-Chilka Road	Khordha	Regular	100	OPEN	DC	30	20	600	25	45	Draw of Lots	15	5
913	CRPF Chhak to Mayfair Hotel (on Ekamrakanan Road), Bhubaneshwar	Khordha	Regular	150	SC	CFS	30	20	600	0	0	Draw of Lots	0	3
914	Tukuda chak to Jarpada on NH55 either side	Angul	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
915	Between Pitapalli Chak to Palla Chak in Khurda Municipality (Not on NH)	Khordha	Regular	100	OPEN	DC	30	20	600	25	45	Draw of Lots	15	5
916	Within 4 kms of Chakapada Bazaar towards Begunia PS on NH-57	Khordha	Regular	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
917	On RHS from Nuagaon Police Station to Nuagaon Mahavidyalaya, Nuagaon on NH57	Nayagarh	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
918	Between Madhyakhanda to Ganesh Bazar (Dasapalla Market/Gania Chhak), on Gania - Daspalla road	Nayagarh	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
919	On LHS from Khurdha to Bolangir Between Km. Stone 199 to Km Stone 202, Daspalla	Nayagarh	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
920	Tubey on NH55 on RHS from Angul to Sambalpur Mile Stone no 145 to milestone no 147	Angul	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
921	Between Baghmari Chhak and Simara Bazar towards Nayagarh on NH-57	Khordha	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
922	from Similia to Charampa on NH-16	Bhadrak	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
923	Within 2 Kms from Gandhi Chhak (Balugaon) towards Enjanpur	Khordha	Regular	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
924	On LHS within 3 Kms from Khorda Collector Office towards Bhubaneswar on NH 16 (Old NH-5)	Khordha	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
925	Within 2 Km from Ladugaon on Ladugaon - Kaudala Road	KALAHANDI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
926	Within 2 Km from Hirapur on Hirapur village main road	KALAHANDI	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
927	NH-26 to Thuapadar Chhak within 1 KM from NH-26	KALAHANDI	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
928	Within 2 Km from Police Station Chowk, Th Rampur towards Bhawanipatna	KALAHANDI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
929	Within 5 Km from Pastikudi Chowk towards Mading	KALAHANDI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
930	Within 2 Km from Salihakala on Amsena- Saliha Road	NUAPADA	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

					FADVENTISED									
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
931	Within 1 Km from Kurumpuri Chowk towards Lakhna on Kurumpuri-Lakhna road	NUAPADA	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
932	Within 2 Km from Baner on Jaipatna- Moter main road	KALAHANDI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
933	From Thakurani Temple to Hati Bridge on Jaipatna Mukhiguda Road	KALAHANDI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Within 5 Km from Pokhari Bandha Chowk on Lanjigarh-Tumudibandh Road while		Rural											
934	going towards Lanjigarh Within 5 Km from Rupra chowk while going towards Kesinga on Kesinga-Narla	KALAHANDI	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
935	Road Within 2 km from Pastikudi Chowk towards Nasigoan in Pastikudi-Chatiguda	KALAHANDI	Rural	48	OPEN	DC	20	20	400	0	30	Draw of Lots	5	4
936	road Within 2 Km from Jhilmila on Salebhata Road	KALAHANDI NUAPADA	Rural	48 48	ST OBC	CFS DC	20	20	400	12	30	Draw of Lots Draw of Lots	5	3
938	Within 1 Km from Khairpadar on Matia Road	KALAHANDI	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
939	Within 2 Km from Pandigaon on Kalampur -Thuamul -Rampur Road	KALAHANDI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
940	Within 1 Km from Dulkibandh on Dulkibandh main road	KALAHANDI	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
941	Within 2 Km from Chichia on Sinapali Dharamgarh Road	KALAHANDI	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
942	Within 2 Km from Semelpali on Lathor Khaprakhol Road	NUAPADA	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
943	Within 1 Km from Badkenduguda on Ampani Dharamgarh Road	KALAHANDI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
944	Within 1 km of Th Rampur Bangla Chowk Towards Kalampur on LHS	KALAHANDI	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
945	Within 1 Km from Junagarh on Junagarh Station Road	KALAHANDI	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
946	Within 1 Km of Khaliabandh Chowk Bus Stop on Risida Road	KALAHANDI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
947	Within 4 km from Odisha-Chhatisgarh Border towards Podajalanga (LHS)	SUNDERGARH	Rural	48	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
948	Within 3 KM from Bargaon chowk towards Kinjrima	SUNDERGARH	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
949	Between KM stone no. 43 and 45 on MDR- 29, Belpahar-Hemgir Road	SUNDERGARH	Rural	48	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
950	Within 2 Km from Godabhanja on Dharamgarh Road (not on NH)	KALAHANDI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
951	Within 2 Km from Dhaurakhanda on Barpali Sohela Road	BARGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
952 953	Within 5 Km from SBI, Utkela on Bhawaniptna By pass road while going towards Karlapada Surguda to Balichuan on main road	KALAHANDI SUNDERGARH	Rural Rural	48 48	OBC ST	DC CFS	20 20	20 20	400 400	12 0	30 0	Draw of Lots Draw of Lots	5 0	3 2
954	Between KM Stone 6 and 7 on ODR road from Sarabong towards Nuapada (Mouza- Ratapali)	NUAPADA	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
955	Kendumunda Near Jagannath Temple on main road	NUAPADA JHARSUGUDA	Rural	48 48	OPEN	DC DC	20 20	20 20	400	12 12	30	Draw of Lots	5	4 3
956 957	Milan Chowk to Kaudarh chowk Within 1.5 Km from Jagannath Temple, Golamunda on Golamunda-Sinapali Road towards Sinapali	KALAHANDI	Rural Rural	48	OBC OPEN	DC	20	20	400	12	30	Draw of Lots Draw of Lots	5	4
958	Within 2 Km from Parla on Behera road	KALAHANDI	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
959	Dharamgarh To Sinapali Within 5 Km From Dharamgarh	KALAHANDI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
960	Duduka Bye Pass Road (MCL Basundhara Mines Road)	SUNDERGARH	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
961	Kankeri on Kankeri - Sandhikuliari road, Mauza: Kankeri	KALAHANDI	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
962	Within 1 Km from Charpali Barpali Chowk towards Sahajbahal Lefripada, Between KM stone no. 23 and	JHARSUGUDA	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
963	26 on MDR-27. From Black Diamond Engineering College	SUNDERGARH	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
964	to IOCL Terminal	JHARSUGUDA	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
965	From Podajalanga Chowk to Taparia Chowk on LHS towards Chatisgarh Border	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
966	Within 3 KM from Kirei Chowk towards Lankahuda,Sundargarh (Not on NH/SH)	SUNDERGARH	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
967	Within 2 Km from Lakhbahal on Mushanal Bijepur Road	KALAHANDI	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
968	From Budhajharia Chowk to Duruboga Chowk	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
969	Within 1 KM from Raiboga Panchayat office towards Gandhi Chowk	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
970	Kanaktora chowk to Duduka chowk via Laikera Tangarpali chowk to Ujjalpur chowk via	SUNDERGARH	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
971	Ujjalpur bypass	SUNDERGARH	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
972	Within 2 KM from Dulanga Coal Project Office towards Kanaktora chowk	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
973	Within 2 KM from Sodhamal Ashram School	JHARSUGUDA	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
974	From Rampur to Pandakital on Rampur - Dungripali road	SONEPUR	Rural	48	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
975	From Lachhipur to Kaudiamunba	SONEPUR	Rural	48	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
976	Within 2 Kms from Hemgir Chowk towards Bilaimunda on Hemgir- Bilaimunda Road Within 2 Km from Samasingha Chowk	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
977	towards Kolabira on Sambalpur - Kolabira road	JHARSUGUDA	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	From Bankipali to Pipilipali on Rampur Dunguripalli road	SONEPUR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
979	Within 8 KM from Duduka Chowk towards Hemgir	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
980	Within 5 KM from Bankibahal towards Barpali	SUNDERGARH	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
981	Budabahal UP School to Sounamura Stadium	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
982	From Basantpur to Chiplima on Basantpur Chiplima Road	SAMBALPUR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
983	Within 1 KM from Zink Nagar Chowk to Sargipali	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
984	5 1 7	SAMBALPUR	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
985	Within 2 Km Mohangiri towards Kotobahali	KALAHANDI	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
986	Within 3 KM from Bagdehi High School towards Laikera	JHARSUGUDA	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
987	From Nagapali to Sansamura	SONEPUR	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
988	Within 2 Km from Laomal Chowk towards Samasingha on Sindurpankh-Badabahal Chowk Road	SAMBALPUR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
989	Within 3 Km from Bisalpali Chowk towards Binka on Rampur- Binka Road	SONEPUR	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
990	Lakhanpur (Fire Station to Panchayat Samiti Office)	JHARSUGUDA	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
991	Within 3 Km of Birmaharajpur Chowk on Mursundhi Road	SONEPUR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
992	Within 1 Km from Langbahal on Sambalpur- Kolabira Road	SAMBALPUR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
993	Within 2 Km from Babupali on Rampur- Bankigiridi Road	SONEPUR	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
994	From Sindurapank Chowk to Themra on Sambalpur - Kolabira Road	SAMBALPUR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8	,	9a	9b	10	11	12
995	Within 2 Km from Parmanpur on Sambalpur-Kolabira road	SAMBALPUR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
996	Within 1 Km from Laida on Junadih- Kuchinda Road	SAMBALPUR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
997	Within 1 Km from Khari on Bagbahali Road (not on NH)	SONEPUR	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
998	Within 2 Km from Gundala on Boipariguda- Kundra Road	KORAPUT	Rural	48	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
999 1000	Chandrapur block office to Muniguda within 5 Km from Chandrapur Block office Jamankira Chowk to Tangarmal	RAYAGADA SAMBALPUR	Rural Rural	48 48	OPEN PH	DC DC	20 20	20 20	400 400	12 12	30 30	Draw of Lots Draw of Lots	5 5	4 3
1001	Within 5 Km from Bisalpalli Chowk towards Rampur on Binka- Rampur Road	SONEPUR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1002	Within 3 Km from Phampuni on Kundra- Jeypore Road	KORAPUT	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1003	Within 5 Km from Birmaharajpur towards Subalaya	SONEPUR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1004	Balimela chhak towards Chitragonda within 5 Km from Balimela chhak	MALKANGIRI	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1005	Lembupali on Kamsara to Kumbharmunda road	SONEPUR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1006	Within 3 Km from Gambharipank on Sambalpur-Kolabira Road	SAMBALPUR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1007	Podia block office to Kalimela within 3 KM from Podia block office.	MALKANGIRI	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1008	Baipariguda chowk towards Lamtaput within 3 Km from Baipariguda chowk	KORAPUT	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1009	Within 2 Km from Hadkhaiguda Chowk towards Dalpatpali on Purnapani Road	SAMBALPUR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1010	Chitrakonda block office to Balimela within 5 Km	MALKANGIRI	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1011	Similiguda Nalco Chhak to Damanjodi within 3 Km from Similiguda Nalco Chhak.	KORAPUT	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1012	Gunupur to Gumuda within 3 Km from Gunpur chhak	RAYAGADA	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1013	Within 3 Km from Pankital on Rampur- Dungripali Road	SONEPUR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1014	Kundra block office to jeypore within 2km from Kundra block office	KORAPUT	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1015	Within 3 Km from Konga on Kusumi- Jeypore road	KORAPUT	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1016	Collector office to Indravati outsite Municipality limit of Nabrangpur	NABARANGPU	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1017	Ramgiri Chowk towards Kaudiaguda with 4 Km from Ramgiri Chowk.	KORAPUT	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1018	Padua chhak to Nandpur within 2 Km from Padua chhak.	KORAPUT	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1019	Within 2 Km from Ghatobagra on Kundra- Jeypore road	KORAPUT	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1020	Within 2 KM from Kirmira Fire Station	JHARSUGUDA	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1021	Kusumi Panchayat office to NH-26 within 3 Km from Kusumi Panchayat office	KORAPUT	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1022	Kosagumuda chhak to Kodinga within 6 Km from Kosagumuda chhak	NABARANGPU	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1023	Within 2 K from Hordali on Bodiguma - Hordali road	KORAPUT	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1024	Sadarchowk, Padua towards Lamptaput within 2 Km from Sadarchowk, Padua	KORAPUT	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1025	Within 2 Km from Korkunda on Malkangiri-Balimea road	MALKANGIRI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1026	Within 2 Km from Pukali on Pukali- Pottangi road	KORAPUT	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1027	Kashipur block office to Rayagada within 5 Km from kashipur block office	RAYAGADA	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1028	Bissamcuttack Chhak to Durgi witin 7 Km from Bissamcuttack bus stand	RAYAGADA	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1029	Within 2 Km from Kalimela towards Padganpalli on Kalimela-Podiya Road	MALKANGIRI	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1030	Within 2 Km from Sambai on Pukali-Araku Road	KORAPUT	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1031	Umuri on Jeypore Station Road Dasmanthpur on Dasmanthpur-	KORAPUT	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1032	Kakdiguma Road Sindhiguda on Nabrangpur - Sindhuguda	KORAPUT	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1033	road	NABARANGPU	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1034	Kumuli on Puruniguda road Within 2 Km from Gudari block office	KORAPUT	Rural Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1035 1036	towards Dumuri Guda Gorahandi on Kundra-Digapur road	RAYAGADA KORAPUT	Rural	48 48	OPEN OPEN CC 1	DC DC	20 20	20 20	400 400	12 12	30 30	Draw of Lots Draw of Lots	5	4
1037	Limma on Boipariguda-Kundra Road	KORAPUT	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1038	Bhairagoda on Munigura-Bhairagoda road	RAYAGADA	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in KIs	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1039	Amlabadi on Damanjodi-Kakdiguma road	KORAPUT	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1040	Munikhal on Muniguda bypass road	RAYAGADA	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1041	Gobardhan on Hatamuniguda road	RAYAGADA	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1042	Bhasma chowk to Remanda chowk via New Bridge	SUNDERGARH	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1043	Kodinga on Papdahandi-Kosagumuda road	NABARANGPU	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1044	Mahupadar on Salimi-Jagdalpur Road	MALKANGIRI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1045	Chitrangpali on Daraguda-Potteru road	MALKANGIRI	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1046	Nandpur on Simliguda Road	KORAPUT	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1047	Chidupali on Mariwada-Chirupli road	MALKANGIRI	Rural	48	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1048	Regingtal on Puttasing police station- Tolana Road	RAYAGADA	Rural	48	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
1049	Balakati on Banamalipur road	MALKANGIRI	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
	Kudumulugumma on Gundrigula Road													
1050	(not on SH)	MALKANGIRI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1051	Pedapkonda on Pandripani-Jharapali road	MALKANGIRI	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1052 1053	Undurganda on Kalimela -Podiya road Pujariguda on Indrabati Dam Road	MALKANGIRI NABARANGPU	Rural Rural	48 48	OBC OPEN	DC DC	20 20	20 20	400 400	12 12	30 30	Draw of Lots	5 5	3 4
1055	B.D College, Malkangiri to Sukuma within	NABARANGPU	Kurai	40	OPEN	DC	20	20	400	12	30	Draw or Lots	3	4
1054	2 km from B.D. College	MALKANGIRI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1055	Lachipeta on village main road (not on NH/SH)	MALKANGIRI	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1056	Phatki on Deobandh-Hatibadi road	NABARANGPU	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1057	Hatibeda on Hatibeda-Dabugaon Road	NABARANGPU	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1058	Dabugaon on Dabugaon-Maidalpur Road (not on SH)	NABARANGPU	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1059	Baradei on Baradei-Bhatadhansuli road	NABARANGPU	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1060	Karagam on Gotiguda-Nandapura road	NABARANGPU	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1061	Manigam on Dabugam-Maidalpur Road	NABARANGPU	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1062	Kamwada on Churuguda-Korukonda road	MALKANGIRI	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1063	Nuakote on Dabugam-Maidalpur road	NABARANGPU	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1064	Betal on village main road	NABARANGPU		48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1065	Chikili on Chikili road	NABARANGPU	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1066	Chatahandi on Kodinga-Papdahandi road	NABARANGPU	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
•	2	3		5	0				I	9a	90	10	- 11	12
1067	Karchamal on Chirma-Parsaguda road	NABARANGPU	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1068	Kibekonga on Parchipara-Jadapara road	NABARANGPU	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1069	Badamoda on Kosagumuda-Ukiapali road	NABARANGPU	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1070	Bharsundi on Raighar-Deobhog road	NABARANGPU	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1071	Maripara on Jodinga-Naktisimada	NABARANGPU	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	-		Dural											
1072	Mundibeda on Raighar-Deobhog road	NABARANGPU	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1073	Sarguli on Sarguli-Kacharapara road	NABARANGPU	Rural	48	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1074	Chhatabeda on Parawa-Chhatabeda road	NABARANGPU	Rural	48	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
1075	Within 2 Km from Veternary Hospital, Dokriput towards Simliguda on Nandpur- Simliguda road	KORAPUT	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1076	Purla on Bidriguda-Gobri Road	NABARANGPU	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1077	Murtama on Bhaskel Dam road	NABARANGPU		48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	RoopKona Chowk to Tikiri within 2 Km													
1078	from Roopkona Chowk	RAYAGADA	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1079	Lunguri, Mouza: Lunguri on main road	KORAPUT	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1080	Within 2 Km from Chandahandi Chowk towards Jharigaon on Chandahandi- Jharigaon Road	NABARANGPU	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Mundagaon to Sorisha Padar Chhak (Rural											
1081	Tikiri) Mouza-Mundagaon	RAYAGADA	Nurai	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1002	Jalahari on road connecting to Joda- Palaspanga Express Way	KEONJHAR	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1082	Kalyansinghpur Police Station to Kalyansinghpur Block Office Mouza-	REUNJHAR	Rural	46	30	Cr3	20	20	400		U	Draw or Lots	0	2
1083	Kalyansinghpur	RAYAGADA		48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1004	Within 2 KM from Turumunga Chaka towards Jyotipur on Turumunga -	WEONIUM D	Rural	40	0051	DC	20	20	400	42	20	D	_	
1084	Champua Road	KEONJHAR		48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1085	Bhanda (On Champua-Turumunga main road)	KEONJHAR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1006	Gundunia on Gundunia-Mandama Road, Mauza: Gundunia	KEONJHAR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	_	3
1086 1087	Jirang on village main Road	KEONJHAR	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots Draw of Lots	5	2
1087	Nalagunti on village main raod (not on NH/SH)	MALKANGIRI	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1000				70		DC	20	20	400	14	30	Didw or Lots	,	7
1089	Chitrapur (On Ukhunda - Champua Road)	KEONJHAR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1090	Nalda to Kara Mines	KEONJHAR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1091	Salabani on Salabani Village Road	KEONJHAR	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

					F ADVENTIGED									
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1092	Palasa Kha (not on Joda-Palaspanga Express way)	KEONJHAR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1093	Between Badarampas Chaka and Jambhara Chowk	KEONJHAR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1094	Between Orali and Salania on Orali- Gedama Road	KEONJHAR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Within 2 KM from Chenapadi Chaka													
1095	towards Hadagarh on Chenapadi- Hadagarh Road	KEONJHAR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1096	Adakatta on Naranpur-Bramhanipal Road	KEONJHAR	Rural	48	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1097	Chhamunda on Telkoi-Jagmohanpur Road	KEONJHAR	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1098	Alati Chowk to Gada Bandhagoda Chowk on Ramachandapur-Tamaka Road	KEONJHAR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1099	Dudugaon on village main road	KEONJHAR	Rural	48	OPEN PH	DC	20	20	400	12	30	Draw of Lots	5	4
1100	Janghar on main road	KEONJHAR	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	Pitapiti on NARANPUR - DUBURI ROAD.	KEONJHAR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1102	Within 3 KM from Barapada Chaka towards Pandua on Sainkul-Batto Road	KEONJHAR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1103	Baladuan on Salabani-Baladuan Road	KEONJHAR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1104	Mochinda on village main road	KEONJHAR	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1105	Within 2 KM from Harichandanpur Chaka towards Ghatagaon on Harichandanpur- Ghatagaon Road	KEONJHAR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1106	Within 1 KM from Naranpur Chaka towards Pandapada on Naranpur-	KEONJHAR	Rural	48	OPEN	DC	20	20	400	12	30	Danie of Late	5	
1106	Harichandanpur Road Within 3 Km from Manoharpur Chowk towards Harichandanpur Market on old	REUNJHAR	Rural	46	OPEN			20		12	30	Draw of Lots		4
1107	Harichandanpur Road	KEONJHAR		48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1108	Khaliamenta on Khaliamenta-Sailang Road		Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1109	Padanpur on Padanpur-Sindhei Road	KEONJHAR	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1110	Nahangi on Ramachandrapur-Bandagoda Road	KEONJHAR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1111	Sibanarayanpur on Bancho Road	KEONJHAR	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1112	Dimbo on Keonjhar-Patana Road Belabahali on Belabahali-Siapada Road	KEONJHAR	Rural	48	OBC	DC	20	20	400	12 0	30	Draw of Lots	5	3
1113	(not on NH)	KEONJHAR	Rural	48	ST	CFS	20	20	400	U	0	Draw of Lots	0	2
1114	Baxibarigaon on Janghira road.	KEONJHAR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1115 1116	Tolankapada on Siapada-Mangalpur Road Balarampur on Deogaon Road	KEONJHAR KEONJHAR	Rural Rural	48 48	OBC OPEN	DC DC	20 20	20 20	400 400	12 12	30 30	Draw of Lots Draw of Lots	5	3 4
1110	pararampur on Deogaon Roau	KEONJHAK	Ruidi	40	UPEN	DC	20	20	400	12	30	DIAW OF LOTS	3	4

						LOCATIONS								
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
4447		VEONIULA D	Rural	40	00511	200	20	20	400	42	20		-	
1117 1118	Balipal on Naranpur-Bramhanipal Road Barhatipura on Tara Road	KEONJHAR KEONJHAR	Rural	48 48	OPEN SC	DC CFS	20	20	400 400	12 0	30 0	Draw of Lots Draw of Lots	5 0	2
1110	Within 02 KM from Laxmipur on PWD	KLONJITAK	Nulai	40	30	CF3	20	20	400	0	0	Diaw of Lots	0	
1119	road towards Keonjhar	KEONJHAR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1113	Within 03 KM from Nekedaghar towards	REOMINAN		40	OBC	DC	20	20	400	12	30	Diaw or Lots	3	
1120	Naranpur on PWD road	KEONJHAR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1121	Tangiriapal to Brahmanipal	KEONJHAR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Ichinda on Putulpani Mines Road within 2			_	-	-	_						-	
1122	Km Chowk	KEONJHAR	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1123	Kundapitha on Ghatagaon-Patana Road	KEONJHAR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1123	Kanaapitha on Ghatagaon i atana Road	REGIVITAR		40	OBC	DC	20	20	400	12	30	Diaw or Lots	3	
	Between Jahanra Chaka on NH 20 (Old NH													
	215) and Khaparakhai Chaka on NH-20		Rural											
1124	(old NH-215) via SAILANG CHOWK	KEONJHAR		48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1125	Chicholi on Prakashpur-Chicholi Road	BARGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1126	Udaypur on Saharpada main Road	KEONJHAR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
			Rural							0				
1127	Malda on Sunindpur Bauxite Mines Road	KEONJHAR	na.	48	ST	CFS	20	20	400	ŭ	0	Draw of Lots	0	2
	Within 2 Km from Godbhaga Camp Chowk		Rural											
1128	on Lahanda Road	BARGARH		48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1129	Pahandi on Bijepur-Diptipur Road	BARGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1130	Ruhunia on Bargarh Panchayat College	BARGARH	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1130	Road.	BARGARH		48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Koliposi Chowk to Dangardiha Chowk on		Rural							0				
1131	Ghatagaon-Harichandanpur road	KEONJHAR	Nulai	48	sc	CFS	20	20	400	· ·	0	Draw of Lots	0	2
1131	Within 5 Km from Tusra Bus stand towrds			70	30	0.5	20	20	400		·	2.400 01 2013	Ĭ	
	Gudvela (Outside NAC Limit) on Tusra		Rural											
1132	Gudvela Road	BOLANGIR		48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1133	Banjari on Sohela-Banjari Road	BARGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
			Rural											
1134	Parasara on Titlagarh - Sindhikela Road	BOLANGIR		48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1135	Tensa to Koira not on NH/SH	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Within 2 Km from Sidhira Chowk on		Rural							0				
1136	Sidhira Road	BARGARH		48	ST	CFS	20	20	400	_	0	Draw of Lots	0	2
1137	Khaprakhol on Khaprakhol Lathor Road	BOLANGIR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1137	Jhankarpali on Gaisilat Road	BARGARH	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1139	Bheden on Bheden Road	BARGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1140	Bhutiarbahal on Tikarpara Road	BOLANGIR	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1141	Sargada on Deogan Rusuda Road	BOLANGIR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1142	Kalsaipali on Balangir-Tusra Road	BOLANGIR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1143	Daraikela Chowk to Jodabandha	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1144	Bindhalpali on Sohela Ainpali Road	BARGARH	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
									•				•	

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1145	Sauntpur on main road	BOLANGIR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1146	Laitara on Desil-Lutalbandh Road	BOLANGIR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1147	Kendpali on Kendpali Rd	BARGARH	Rural	48	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
1148	Remunda on Patrapali Remunda Rd	BARGARH	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1149	Dwari on Bargarh Road	BARGARH	Rural	48	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1145	Baddhara in Ambobhona Block Near CG	DANGANII	Marai	40	50 00 1	CIS	20	20	400	·		Didw or Lots		
1150	Border	BARGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1151	Baghalabandha on Dhumabata Road	BOLANGIR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1152	Sargad on Fasad - Fatabahal Road	BOLANGIR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1153	Resham on Main Village Rd	BARGARH	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1154	Bibina on Bibina - Siletpara Road	BOLANGIR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Tulandi on Tulandi-Minar Canal Service		Rural											
1155	road	BARGARH		48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1156	Lenjha on main road	BOLANGIR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1157	Kukurahad on Nayapara Road	BOLANGIR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1158	Salepara on Tikarpara Muribahal Rd	BOLANGIR	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1159	Nuagarh on Bheden Road	BARGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1160	Barpadar on Main Road	BARGARH	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1161	Paikmal on Nrusinganath Temple Road	BARGARH	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1162	Ghagara on Belpara-Khaparakhol Road	BOLANGIR	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1163	Telmahul on Bijepur-Diptipur Road	BARGARH	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1164	Tinko to Barsuan on Kaleiposh to Barsuan Road	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1165	Within 3 KM from Kalaieposh check gate towards Kalaiposh	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1166	Malmunda on Village main Road	BOLANGIR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1167	Turla on Lebarha-Titlagarh Road	BOLANGIR	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1168	Madhupur on Rishida Road	BOLANGIR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1169	Chalki on Tikarapara Muribahal Road	BOLANGIR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1170	Phulmunda on Ganjuadar-Changria Road	BOLANGIR	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
		I	Rural							0				1
1171	Kendumundi on Sohela Mangalpali Rd	BARGARH		48	ST	CFS	20	20	400		0	Draw of Lots	0	2
1172	Hial on Tureikela Road	BOLANGIR	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1173	Gurundia on Gurundia Kuchinda Road	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1174	Bhalumuda on Bhalumunda Road	BOLANGIR	Rural	48	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
1175	Fakirmunda on Panchayat Road	SUNDERGARH	Rural	48	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1176	Bewtween Kuarmunda and Purnapani via Kalosihiria road	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1177	Bonai town to Kantajodi	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1178	Bandamunda to Bisra (out side NAC)	SUNDERGARH	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1179	Bagdega on Ghodabandh Khutgan Road	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8	,	9a	9b	10	11	12
1180	Within 3 Km from Benamunda Chowk on Telkoi main road	KEONJHAR	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1181	Khandahata on Bargarh - Bheden Road	BARGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1182	On Lalei-Khandadhar Road between Kurda and Badhabhuin	SUNDERGARH	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1102	Within 2 Km from Barsuan towards Tensa	CUNDERCARU	Rural	40	OPEN	DC	20	20	400	12	20	Draw of Late	-	4
1183	on Barsuan-Koira Road	SUNDERGARH	2	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1184	Belgaon on Belgan Village main Road	BOLANGIR	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1185	Within 2 Km from Kenaveta on Kenaveta Road	SUNDERGARH	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1186	Koira (not on Tensa-Koira Road and NH/SH)	SUNDERGARH	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1187	Kangarlaga on Saitala-Tikarpara Road	BOLANGIR	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1188	Palatotapada to Panabaraj Post Office	Khordha	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1189	Within 5 kms of Ranpur towards Darpanayanpur on New Jagannath Road.	Nayagarh	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1190	From Baranga to Daruthenga on MDR on RHS (mouza- Krushnanagar)	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1191	KIIT Chhak to Rokat via Patia Station	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1192	Between Godipada and Sarankul on Darpanaryanpur Sarankul road (New Jagannath Road)	Nayagarh	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1193	Between Godipada and Godimada on Darpanaryanpur Sarankul road (New Jagannath Road)	Nayagarh	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1194	Within 2 km From Balugaon chak towards kantabania on Nayagarh Khandapara Road	Nayagarh	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1195	Kanasinga Chhak- Rajkiari to Sidhamula Bridge	Nayagarh	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1196	From Jaleswar KSK (Indian Oil Petrol Pump) to Nandankanan Police Station on LHS	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1197	Between Darpanaryanpur and Godimada on Darpanaryanpur Sarankul road (New Jagannath Road)	Nayagarh	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1198	Within 5 km from Hariharpur Chhak towards Sikharpur (Not on SH)	Nayagarh	Rural	48	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1199	Sundarpur Village on Mangaljodi Road, Block Tangi	Khordha	Rural	48	OPEN PH	DC	20	20	400	12	30	Draw of Lots	5	4
1200	Hataduar to Dalimbambada	Nayagarh	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

					FADVENTISED									
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1201	Within 5 kms from Mahipur towards Bahadajhola on Mahipur Bahadajola road	Nayagarh	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1202	Kuhuri to Soran	Khordha	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1203	Taraboi to Pandiabilli	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1204	Jhadeswar to Banpur Block Office on Ayatpur Banpur road	Khordha	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1205	From NH-16 to Kaipadar on Kaipadar Road	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1206	Within 3 Km of Lodhachua towards Rajsunakhla	Nayagarh	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1207	Singipur Post Office to Bhusandapur	Khordha	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1208	From Indumati Market Complex to Jayapur on Balugaon bypass road.	Khordha	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1209	Within 2 km of Nandankanan Police Station towards Barang Police Station on Nandankanan Road	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1210	From Tangi Police Station to Kalupadaghat Rly. Stn.	Khordha	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1211	Rajpur Village on Jaleswar Road	Balasore	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1212	Within 5 km from Nayagarh District Court towards Khandapara on nayagarh Khandapara Road.	Nayagarh	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1213	Within 1 km from Kateni Chhak towards Mendhasala and within 1 km from kateni Chhak towards Kantabada on either side of MDR77	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	From NH-16 to Bhusandpur via Maa	M II .							400		20		-	
1214	Ugratrara Temple	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1215	Mahagab to naiduba, bhograi block	Balasore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1216	within 2 km of kirkichia on khunta - bholagodia road	Mayurbhanj	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1217	Lathipada to Pratapprasad (Not on NH)	Nayagarh	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1218	Kimbhiripada to Gamei on Balugaon Bypass road	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1219	From Jaleswar KSK (Indian Oil Petrol Pump) to Nandankanan Police Station on RHS	Khordha	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1220	Within 2 Kms of Jamda Post office on Jamda Belposi road	Mayurbhanj	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1221	Between Banpur & Balugaon, 2 kms on either side of Maa Meghambari Temple	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1222	Within 5 Km from Basudevpur on Basudevpur Bhadrak Road (Outisde NAC)	Bhadrak	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

					FADVENTISED									
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1223	within 3 km of Kharasahapur market	Balasore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1224	Within 5 Km from Basudevpur on Basudevpur Soro Road (Outside NAC)	Bhadrak	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1225	Within 5 km of Padmapur chhak on Ichhapur-Basudevpur road	Bhadrak	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1226	Chandimal to Nakhidaspur on Chandimal - Nakkhidaspur Road	Bhadrak	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1227	Within 5 Km from Ichhapur Chak on Basudevpur- ichhapur road	Bhadrak	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1228	Between Bhandaripokhari to Maninathpur	Bhadrak	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1229	within 2 Km from Barpada chhak towards Agarpada	Bhadrak	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1230	Agarpada - Kupari road within Bonth Block	Bhadrak	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1231	Within 2 Km from Soro-Kupari on Dhobagadia - Dungura Road	Bhadrak	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1232	Within 4km from Motto(On Motto- Chaudhary ghat road)	Bhadrak	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1233	Within 5 km of Bansada towards Sadanandpur	Bhadrak	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1234	within 3 km of SUNEAI PAKHARI CHAKA HALADIA	Bhadrak	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1235	Dhamnagar - Dobel Road	Bhadrak	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1236	Kothar on Dhamanagar- kothar road.	Bhadrak	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1237	Within 3 km of Gandhiberh on Gandhiberh- Kurunta Road	Balasore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1238	Agarpada - Kupari road within Khaira block	Balasore	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1239	Between Khantapara Market and Khantapara Railway Station	Balasore	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1240	Markona to Basudevpur via Bari within 6 Km from NH-16	Balasore	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1241	Sarat on Kaptipada - Sarat Road	Mayurbhanj	Rural	48 48	OBC SC	DC CFS	20 20	20 20	400	12 0	30 0	Draw of Lots	5	3 2
1242	Dhabaleswar to Kakhadi within 3 Km Within 5 Kms from Govindpur towards	Cuttack Cuttack	Rural Rural	48		DC	20	20	400		30	Draw of Lots Draw of Lots	5	4
1243 1244	Banki Nachipur to Chandol within 3 Km	Cuttack	Rural	48	OPEN OPEN	DC	20	20	400	12 12	30	Draw of Lots	5	4
1244	Within 5 KMS from Birakishorepur Square Athagarh towards Dhenkanal	Cuttack	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1243	Sapanpur to Kendupatna within 5 Km	Cuttack	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1247	Garuda Gaon to Coudwar within 3 Km	Cuttack	Rural	48	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1248	Within 3 Km of Pathapur village	Cuttack	Rural	48	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
1249	Athagarh to Bahapur within 10 Km	Cuttack	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3

				2.0.0	FADVENTIGED		0002							
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1250	Tilakana to Kantapari within 1 Km	Cuttack	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1251	Banki to Kalapathar within 10 km	Cuttack	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1252	Kantapada Bazar (not on SH) to Prataprudrapur within 3 Km	Cuttack	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1253	Kisannagar (mouza Samantarapur) to Urali within 3 Km	Cuttack	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1254	WITHIN 6 KMS FROM NISCHINTKOILI CHHAK TOWARDS LALITGIRI ROAD	Cuttack	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1255	Athagarh to Angul within 3 km	Cuttack	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1256	Within 3 Km of Kothapada under Kuhunda mouza (Mahanga - Cuttack Road)	Cuttack	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1257	Within 8 KMS FROM ATHAGARH CHHAK TOWARDS DAHISARA-GHANTIKHALA ROAD	Cuttack	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1258	Athagarh to Ghantikhal within 3 Km	Cuttack	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1259	Pahanga to Athantar within 3 Km	Cuttack	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1260	Choudwar - Athagarh Road via Dhabaleswar within 4 Km	Cuttack	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1261	Charibatia to Chaudwar Road on RHS within 3 Km	Cuttack	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1262	Bhiruda to Tigiria within 3 Km	Cuttack	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1263	Narsinghpur to Ekdal within 3 Km (Not on SH)	Cuttack	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1264	Anshupa to Banki within 2 km	Cuttack	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1265	Rajnagar to Dhaipur within 3 Km	Cuttack	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1266	Jilinda to Narsinghpur within 5 Km	Cuttack	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1267	Alasua to Banki within 3 Km	Cuttack	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1268	Baanra to Jatamundia within 3 Km	Cuttack	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1269	Bilahat Bazar to Manijanga within 1 Km	Cuttack	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1270	Talabeda to PMIT college, Talcher area	Angul	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1271	Tentuloi to Ghantapada	Angul	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1272	Kumuanda- Between Goplprasad to Kalamchuin	Angul	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1273	Krushna kumarpur (Kaimati to Kapilash)	Dhenkanal	Rural	48	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1274	Bhapur to Eswarpal, Dhenkanal	Dhenkanal	Rural	48	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
1275	Urbengi to Kankadahad	Dhenkanal	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1276	Ghantapada between Central Hospital and Handidhua Chak	Angul	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1277	Gadasila to Panchupati	Dhenkanal	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1278	Biswanathpur to Gondia, Dhenkanal Bhuban Road	Dhenkanal	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1279	Samal within Samal Barrage to Saml Market	Angul	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	•													

					FADVENTISED									
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1280	Khamar (Not on NH)-Khamar College to Rengali Project Town	Angul	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1281	Mahavir Road within 1 KM of Govt. Hospital, kankadahad block	Dhenkanal	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1282	Dharmapur to Gudibandh chak, Talcher	Angul	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1283	Gohirakhal- Between Dhenkanal Bhapur Road	Dhenkanal	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1284	Gurujang between Koria chak to Haldibadi	Dhenkanal	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1285	Bantala- Kumursingha towards Mohidharpur Chak	Angul	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1286	Sardeipur to Kantanali Bypass, Dhenkanal	Dhenkanal	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1287	Chendipada to Budhapal	Angul	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1288	Panchumahala not on NH	Angul	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1289	Dera chak talcher to Ghantapada , Talcher	Angul	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1290	Gadasila to Kandabindha, Odapada Block	Dhenkanal	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1291	Pabitra Nagar to Kulei	Angul	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1292	Within 3 kms of Mahidharpur towards Angul (not on SH)	Angul	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1293	Aagua village to Majika Chhak (Not on SH)	Angul	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1294	Sanjoroda between Karnapur and Badajoroda	Angul	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1295	Girang , Angul - within 3 km of Girang Chhak to FCI Township	Angul	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1296	Dhankhandi to Palasaguda Market	Boudh	Rural	48	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1297	Hindol bus stand to Pathanipota towards Narsinghpur	Dhenkanal	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1298	Pandua Chhak to Rajnarasinghapur, Dhenkanal	Dhenkanal	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1299	Caltax chak to Kurudol	Angul	Rural	48	OPEN PH	DC	20	20	400	12	30	Draw of Lots	5	4
1300	Kumunda, Near Chandi Bazar,Pragati Nagar	Angul	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1301	Gudiakateni to Nayabhagirathipur	Dhenkanal	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1302	Khalari (Angul College Square to Mohidharpur) within 10 KM radius	Angul	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1303	Bhapur to Ostapal	Dhenkanal	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1304	Pandua to Ichhabatipur	Dhenkanal	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1305	Within 3 KM OF Sankarpur towards Bhapur	Dhenkanal	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1306	Ghatipairi to Jaripal	Dhenkanal	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1307	Within 3 KM from Maidharpur towards Satmile Chak	Dhenkanal	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

					ADVENTIGED									
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1308	Kishorenagar to Doholi (on RHS)	Angul	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1309	Badabara to Kuio Bridge	Angul	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1310	Jankhira (Kaimati to Joranda)	Dhenkanal	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1311	Kulad Chhak to Balramprasad	Angul	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1312	Within 2 km from Pratappur towards badasahi	Mayurbhanj	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1313	Badahinsar to Bimalbedha	Angul	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1314	Santri Chak to Maidharpur (Not on SH)	Angul	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1315	FCI Road , Talcher to Balanda	Angul	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1316	Kuio School to Badajharana	Angul	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1317	Sagada Village to Paikbahal towards Monomunda	Boudh	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1318	Panasapada (KM stone No- 37 - KM mile stone 39)	Angul	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1319	Pingua to Launai towards Chhatia (Not on SH)	Angul	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1320	Mahulpal Hata to Rajagola, Bhuban	Dhenkanal	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1321	Rengali (Power grid Rengali Substation to Rengali DAM pocice Station)	Angul	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1322	Badampahar, Kusumi block	Mayurbhanj	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1323	Dahunda in Bhograi Block	Balasore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1324	Jamsuli to Bahadalpur	Balasore	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1325	Paburia on G Udayagiri - Sarangada Road	Kandhamal	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1326	Phiringia on SH-1 Junction - Nahangaon Road	Kandhamal	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1327	Chakapada on Tikkaballi - Chakapada Road	Kandhamal	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1328	Hadobhangi to Mathala on Kotturu- Nivagam Rd	Gajapati	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1329	From Gopalpur Junction (NH-16) to Korapalli towards Gopalpur	Ganjam	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1330	Angargaon on Salia Dam Road	Ganjam	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1331	Gunjibadi on Gelabadi - Dadabadi Road	Kandhamal	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1332	Pitatali Junction on SH-29 to Surla Road Railway Station via Pitatali Road	Ganjam	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1333	Kanchana Junction to Beguniapada	Ganjam	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1334	Jayantipur to Kesaripada	Ganjam	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1335	Bahadur Pentho to Maa Sidhhabhairabi Temple Chowk	Ganjam	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1336	Beredakia on Kandabada - Piseramaha Road	Kandhamal	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8	T	9a	9b	10	11	12
1337 H	KUSADHARMARAIPUR TO DAYANIDHIPUR	Ganjam	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1338	Pattapur on Jayanagar - Mahanala Road	Ganjam	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
	Within 2 KMs from Galleri towards Gohiribadi	Ganjam	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Kamarda to Baharda	Balasore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Nuapada on Brahmna Nuapada - Chadhiapada Road	Ganjam	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Konkarada on Hinjili Syamalai Jagannathpur Road	Ganjam	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Tumudibandha not on SH/NH	Kandhamal	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Nuagada on Khajiripada - Gobindapur Road	Gajapati	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
J	Dharakote in between Dharakote Road Junction (NH-59) to Bharat Gas Godown via Kapilash village	Ganjam	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	KHAJURIPADA TO NUAGADA (WITHIN 5 KMS FROM KHAJIRIPADA)	Gajapati	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	GOLABANDHA ON HANUMAN TEMPLE ROAD	Ganjam	Rural	48	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
	PADMAPUR ON RAMNAGAR - TULASIPADU ROAD	Gajapati	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
	Gumma on either Parlakhemundi-Mohana Road Gumma Tahasil Office	Gajapati	Rural	48	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
	Badapada on Badapada-Sanadodanga Road	Ganjam	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Krushnasaranpur on Baniapalli - Dhaupalli Road	Ganjam	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Nimundia on Banapalli - Bada Chadhia Pada Road	Ganjam	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1353	Sudsudia on Kaptipada to nuasahi road	Mayurbhanj	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	Gopalpur NAC Area	GANJAM	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Chatrapur to Karapada	Ganjam	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1356 F	Khaspa on Gangadharpur - Thuruburai Road	Ganjam	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1357 F	Sumandala on Tobhajhola - Shandhamula Road	Ganjam	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Jamujhari on Kudasunga - Dasamunda Road	Kandhamal	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Jhuntiapalli	Ganjam	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1	Rambha bypass towards Rambha town within 500 mtrs from NH-16 (From Keshpur side)	Ganjam	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1361	Garadpur	kendrapada	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4

Location Sl. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	in Lakhs)
1	2 Anandapur on Amburudi - Bitisingi Rd	3	4	5	6	7		8	I	9a	9b	10	11	12
1362	(Korasanda Rd)	Gajapati	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1363	Matiapalli to Antei on Maa Mahuri Kalua Road	GANJAM	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1364	Raghunathganj village under kuliana block	Mayurbhanj	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1365	Within 5 km on both side of Namtara Tarini Chawk	Kendrapada	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1366	Muguria on Tarapur Anakhia Nanpur road	Jagatsingpur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1367	Bansingh to Dhenkanal	Khordha	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1368	Within 2 kms from Nahulia chhaka towards Jayanagar	kendrapada	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1369	Between Mahanadi Bridge, Tirtol and UCO Bank Kolar branch	Jagatsingpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1370	Kalapada Bridge to Jokia	Kendrapada	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1371	Within 5 kms from Sandha square (Sandha Chhaka), kaliapat towards Malahunka Market	Jagatsingpur	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1372	Balia (On pattamundai Rajnagar road)	kendrapada	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1373	Kalabuda Bareni Bridge To Lankapada	kendrapada	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1374	Within 2 kms from SB Gopalpur chaka ,rajnagar towrds Kundupur Chaka	kendrapada	Rural	48	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
1375	Within 3 km Palur Junction on NH-16 towards Malud on Malud Road	Ganjam	Rural	48	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1376	Within 1 km from the junction of Kanak Durga Road and Balasore-Udala Road on LHS of Kanak Durga Road towards Manatri.	Balasore	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1377	Nuagan Post Office to Radhakrishna temple, Khandol	kendrapada	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1378	Dara Bachha (Not on NH)	kendrapada	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1379	Within 2 KM From Mahakalapara towards NH-53 on Marshaghai Road	kendrapada	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1380	Garam (Not on NH)	Jagatsingpur	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1381	Bauda Office Chhak to Tikhiri (on PMGSY road)	kendrapada	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1382	Tentulipada (NOT ON SH)	Jagatsingpur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1383	Gangada Hata under mouza Gangada	Jagatsingpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1384	Bijaynagar on Babar Bijaynagar Kendrapada road	kendrapada	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1385	Tigiria To Sahupada	kendrapada	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1386	Guludia on Rajnagar Pattamundai Road	kendrapada	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1387	Manijanga To jagannathpur	Jagatsingpur	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1388	Juna (Not on NH)	kendrapada	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1389	Tirtol (Not on SH) Mouza Balrampur, Olavar Market on	Jagatsingpur	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1390	Rajkanika Jayanagar road	Kendrapada	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1391	Jaypur chaka to Sampur	Jagatsingpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1392	Alanahat under mouza Alana	Jagatsingpur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1393	Silipur (Not on NH)	kendrapada	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1394	Within 4 kms from Bhuinpur Towards Aul on manpur road	Kendrapada	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1395	Within 4 km from Sathipur on sathipur baitarini station road	Jajpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1396	Mouja Mulakhamba on mangalpur to Kaliapani Road	Jajpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1397	Within 3 km from Dhaneswar Chaka towards Sahapur on Dhaneswar Sahapur Road	Jajpur	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1398	Nadiabhanga (not on SH)	Jajpur	Rural	48	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1399	Within 2 km from Barachana bloack office on Barachana Darpan Road	Jajpur	Rural	48	OPEN PH	DC	20	20	400	12	30	Draw of Lots	5	4
1400	Within 2 km from Jenapur Railway Station towards Chadheidhara	Jajpur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1401	Within 5 kms from Mainda Chaka towards Singhpur	Jajpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1402	Within 3 Kms from Singhpur market towards Jajpur Town	Jajpur	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1403	Within 2 kms from Mashara sub post office towards Jajpur Town	Jajpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1404	Between Alkund and Rasik Chaka	Jajpur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1405	Batijoda on Barda Dhenkanal Road	Jajpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1406	Kaliapani	Jajpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1407	Arakhapur on Barachana to Balichandrapur Road	Jajpur	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1408	Baunsamuli Chaka to Salapda Chaka on Bandalo Endarpada Road	Jajpur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1409	Within 2 kms from Mashara sub post office towards Singhpur	Jajpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1410	Within 4 km from Dakbungalow Chaka towards Visa Steel Plant	Jajpur	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1411	Within 1 km from Mainda Chaka on Baruneshwar- Barpada-Alkund Road	Jajpur	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1412	Rachhipur	Jajpur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1413	Within 3 km from Sujjanpur power substation on Baruan/Jajpur - Bari Road	Jajpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1414	Within 3 Kms from Tata Mines gate on Sukinda Mangal Pur Road	Jajpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	Within 2 kms from Mansha Polo Chaka towards N C College	Jajpur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1416	Within 2 Kms from Ragadi Chaka towards Panikoili on Ragadi-Korei-Panikoili Road	Jajpur	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	Within 2 Kms from Pritipur Market to Chhatrapada	Jajpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Within 3 kms from Tomka Chaka towards Kaliapani	Jajpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Within 2 Kms from SBI Balichandrapur towards Chhatia on Balichandrapur- Chhatia Road	Jajpur	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Within 2 km from kalipada bazar on kalipada- baliapal road	Balasore	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Within 2 kms from Areikana Chaka towards Manduka Chaka on Baruan Balichandra Road	Jajpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1422	Within 5 km from Bari Sub-Post Office towards Baruan chhaka	Jajpur	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1423	Dantiamunhan chhak to Chitrada	Mayurbhani	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
	Within 2 kms from Baruan Chaka towards Bari	Jajpur	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	Within 2 KM of Basta Block Office (not on NH)	Balasore	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1426	Kuliana not on NH	Mayurbhanj	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1427	Within 3 km from Badasahi Tehsil Office	Mayurbhanj	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1428	Within 2 km of Saraskana block office	Mayurbhanj	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1429	Within 2 km from Jaida towards Badasahi	Mayurbhanj	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	Within 2 km of Krushnanagar in Jaleswar block	Mayurbhanj	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1431	Bartana to Paschimbar	Balasore	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1432	Kalabadia chhak to Pathuri	Mayurbhanj	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1433	Baharda to Dahamunda	Balasore	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1434	Remu on Basta- Baliapal Road	Balasore	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1435	Maldihi to Bangriposi	Mayurbhanj	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1436	Kankuda	Puri	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1437	Bakreshwar Temple to SH-60 on Balipatna- Bhingarpur Road	Khordha	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1438	Bhagabatipur	Puri	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1439	Anjira	Puri	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1440	Within 1 KM from the crossing of "Janhikuda Malud Road (ODR)" and "Titipa-Nuapada road" on Left Hand Side of "Janhikuda Malud Road (ODR)" towards Krushnaprasad Bazar, Block – Krushnaprasad	Puri	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1441	Pir Jahania on Astaranga Road	Puri	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1442	Srichandanpur to Indira Bazar	Puri	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1443	Paluru to Malud on Malud Road	Puri	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1444	Ananda bazar Chak to Kundhei Haat Chak	Puri	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1445	Within 3 km of Gop Bazar (not on SH)	Puri	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1446	Within 5 km of Balanga Bazar towards Nimapara	Puri	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1447	Gadasanput	Puri	Rural	48	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1448	Begunia to Patelia	Puri Puri	Rural	48	OPEN CC 2	DC	20 20	20 20	400 400	12	30 30	Draw of Lots Draw of Lots	5	3
1449	Begunia to Kuruma	Puri	Rural	48	OBC CC 1	DC			400	12 12	30	Draw of Lots Draw of Lots	5	4
1450	Indipur on Brahamgiri -Delang Road	Pull	Rural	48	OPEN	DC	20	20	400		30	Draw or Lots	3	4
1451	Between Rebana Nuagaon CHC to BaliHarachandi Temple (not on NH)	Puri Puri	Rural	48	ST	CFS	20	20	400 400	0	0	Draw of Lots Draw of Lots	5	3
1452	Ambapada		Rural	48	OBC	DC		20		12	30			4
1453 1454	Biranarsinghapur Sisilo to Purohitpur	Puri Puri	Rural Rural	48 48	OPEN OPEN	DC DC	20 20	20 20	400 400	12 12	30	Draw of Lots Draw of Lots	5 5	4
1434	Ayatapur Chhaka to Jhadeswar on Ayatpur	Pull	Rurai	40	OPEN	DC	20	20	400	12	30	Draw or Lots	3	4
1455	Banpur road	Khordha	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1456	Within 2 km of Kamaladiha Branch Post Office on Badamul Zilinda road	Nayagarh	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1457	Within 5 kms. Of Fategarh Police Station towards Khanndapara on Fategarh Khandapara road.	Nayagarh	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1458	Gambharimunda Bazar to Ayatapur Chhak on Ayatapur Road	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1459	Kumarangasasan Chhaka to Banpur College Chhak on Salia Dam Road	Khordha	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1460	Ostapur to Nilakanthapur via Podadiha in Begunia block.	Khordha	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1461	Within 1.5 km from the junction of "Paikrapur -Madanpur Road" and "Nuagaon-Malipada-Kateni Road" on Nuagaon -Malipada-Kateni Road towards Kateni	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1462	Gadavingura	Puri	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1463	Within 3 km of Jahnimalia Chhak	Puri	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1464	Within 3 km of Jaispatna Chak (not on NH)	Puri	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1465	Within 2 km of Bijipur Bazar	Puri	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

					FADVENTIGED		O: :002							
Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1466	Nimapara to Nahantara Chhak on Satsankha-Balanga-Nimapada Road	Puri	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1467	Khelar to Terahalla on Balanga-Khelar Road	Puri	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1468	Within 6 km of Gopinath Temple (Sakhigopal) towards Someswarpur	Puri	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1469	Brahmanasarangi Post Office to Balipatna Police Station on Balipatna-Bhingarpur Road	Khordha	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1470	Pratapramchandrapur on new Jagannath road	Puri	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1471	Satasankha to Balanga	Puri	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1472	Sunakhala to Gambharimunda on Gambharimunda Road	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1473	Thanapali to Gaudiapada	Nayagarh	Rural	48	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
1474	Within 3 km from Jankia Chhak towards Siko on Siko Road	Khordha	Rural	48	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
1475	Post Office, Siko to Post Office, Haja on Jankia Siko Road	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1476	Hanspal square to Andilo (outside Municipality Limits)	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1477	Kusikona to Balikapileswar Temple on Kajipatana-Dhanua Road	Puri	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1478	Bainchua on Bainchua road	Khordha	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1479	Banamalipur on Banamalipur road	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1480	Barunibinda on Brahmagiri-Delang Road	Puri	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1481	Balianta post office to SH 60 (not on SH)	Khordha	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1482	Chakeisihani	Khordha	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1483	Pratapsasan	Puri	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1484	Sanaora Chhak under mouza Sahaspur	Puri	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1485	Between Dhaulimuhan Railway lable crossing and Tapang Chhak. (Not on NH)	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1486	Khalisahi to Barakoli on Khandapada- Kantilo Rd	Nayagarh	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1487	Nuagarh on Astaranga road	Puri	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1488	Soran to Kalupada Ghat	Khordha	Rural	48	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1489	Within 2 km from Bhola Square towards Pitapalli on Khurda Chandaka Road	Khordha	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1490	Champagarh	Nayagarh	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1491	Odisha Police Training Center, Tartua to Saradhapur (Not on NH)	Khordha	Rural	48	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1492	Kalinganagar to Ghatikia	Khordha	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

Location SI. No.	Name Of Location	Revenue District	Type of RO (Regular/R ural)	Estimated monthly Sales Potential (MS+HSD) in KIs	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/CFS)	Minimum Frontage of Site (in M)	Minimum Depth of Site (in M)	Minimum Area of site (in Sq. M.)	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bidding)	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	Kalyanpur Post Office to Nalipada Arjunpur via Haladiapada	Khordha	Rural	48	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1494	Between Singhapada and Khalisahi	Nayagarh	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Nimapada Cinema Hall Chhak to Maa Tarini temple	Puri	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	Bidyapitha Nagar to Thanapalli on Dalatala Road via Chania Chak	Khordha	Rural	48	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1497	Bamanala to Salanga	Puri	Rural	48	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1498	Adakata to Balabhadraprasad via Nuapada on Jakela Road	Nayagarh	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4